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AHAJIUTHYECKHE PEKOMEHIAIUHA:

Pa3zpadoTka naeHTHPUKATOPOB MHBAJTHIHOCTH C UCIIOJIb30BAHUEM

cuHTaKkcuca SAS PacumpeHHoOro onpocHuka BammmHIrroHcKkou
rpyninbl no GyHKIHUOHAJABbHBIM cniocoOHocTsaM (BI'-PO)

BBeaenue

Kak u B cnyuae ¢ Kpatkum onpocaukom BI' o
¢byHkuonansHeIM criocobHocTsM (BI'-KO), ananus otBeToB
pacupeHHoro Habopa BonpocoB BI' mo ¢pyHKImoHaIbHBIM
cnocoOHocTsM (BI'-PO) Takxke mo3BoisET MOTYyYUTh HECKOJIBKO
UACHTU(PUKATOPOB UHBAIUMIAHOCTH IIyTEM BBIOOpA IIOpOra
TSOKECTU WM oTcedeHus. OnHaKko cuHTakcuc SAS,
MIpEJICTaBICHHBIN HIKE, IPEIyCMaTpUBaET BbIUNCICHUE
UAECHTU(PUKATOPOB UHBAIMAHOCTH C UCIIOJIb30BAaHUEM
pa3nuyHbIX Habopos 1oMeHoB BI'-PO u pekomenryemoro
Iopora i MEX/IyHapOAHbIX CPABHEHUH (OMHCAHO HIXKE).

JUisl KaXKJJ0T0 U3 OMUCAHHbBIX UIEHTU(PHUKATOPOB HHBAIUIHOCTH
YPOBEHB BKIIFOUEHHS — HTO HAIIMYME, I10 KpaHEH Mepe, OJJHOT O
nomena/Bonpoca ¢ orBetoM MCITBITBIBAIO BOJIBIIIME
SATPYJJHEHMSA non HE MOI'Y OTO AEJIATD — win —
U1t AIOMeHOB TpeBokHOCTH, [lenpeccust, bosb u Ycranocrs,
camblil BBICOKUI ypOBEHb 3aTPYAHEHUHN 1O YeThIpeXx0aibHOM
LIKaJIe.

Kaxxnp1it u3 4eTpipex uIeHTU(PUKaTOPOB HHBAIHMIHOCTH,
OIMCAaHHBIX B TOM JOKYMEHTE, ONpeeNsieTcs yTeM Bbibopa
JOMEHOB (DYHKITMOHUPOBAHMSI, BKITFOUAS:

BI'-KO: Kpamxkuu onpocruk: 6 ToOMeHOB, 6 BOIIPOCOB.

BI'-PO 1: Pacuupennwiii nabop: 11 momeHOB, 25 BOIIPOCOB.

BI'-PO 2: Moouguyuposannwiii pacuupenusiii Habop (BI'-
PO munyc bonp u Yeranocts): 9 nomenos, 20 BOnpocoB.

BI'-PO 3: Vcosepuwencmeosannuiii kopomxuii nabop (BI'-
KO nmroc Bepxuss yactsb Tena, TpeBoKHOCTb U
Henpeccus): 9 nomeHos, 12 BOmpocos.

HUcnoanurenbHbie JOKVMEHTDI

BallMHITOHCKOM I'PYIIIBI
OXBaTBIBAIOT HHCTPYMEHTHI,

pa3paboTannbie BammHrronckon
TPYIIION O CTATUCTHKE
unBanuaHocty (BIY) mist coopa
JTAHHBIX 00 WHBAJUIHOCTH,
COIIOCTaBUMBIX Ha
MEKIYHAPOAHOM YpOBHE, IpU
MPOBEACHUH Nepenuceil u
oOcnenoBanuii. B aTux
JIOKyMEHTaX paccMaTpUBAIOTCS
Ty4IIue TPAKTUKU 110
npumeHeHuio Kpatkoro
onpocHuka, PacimpeHHoro
onpocHuka, Kpatkoro onpocHuka
— YCOBEpIICHCTBOBAHHON BEPCUH,
JeTckux (hyHKITMOHATBHBIX
moaynert BI/FOHUCE® s
BO3pacToB 2—4 u 5-17 ner, a Taxxke
moaynst BI/MO-PCU MOT no
WHBaJIMTHOCTU U JPYTHX
uHcTpyMeHToB BI'. Tematnka
BKJIFOYAET MPOOIEMBI ITIepeBO/Ia,
OnpeieJICHUE BOIIPOCOB,
AHAJIMTUYECKUE PEKOMEH AN,
MPOrpaMMHBIN KOJ AJIsl aHAJIN3a,
UCIIO0Ib30BaHIE HHCTPYMEHTOB IS
BBIJICJICHUSI TIOJTPYTIIT U MHOTOE
Jpyroe.

[pyrue ucnosHuTENbHbIE
nmokymeHTHI BI™ 1 Gonee
moApoOHas HHPOPMAIIHS
HAXOJSITCS Ha calTe
BamumHrroHCcKON IpymnIsL:
http://www.washingtongroup-
disability.com/.
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HNPUMEYAHMUE: g ananvsa JaHHBIX UCIONB3YWTe Bamm cranapTHble METOIbI B3BEIIMBAHUS U
OIICHKH.

Cuntakcuc SAS OCHOBaH Ha MemKax nepemMeHHulX, yKa3aHHbIX B TaOnuue Huke. [lomusiit moxyns BI'-
PO conepxut 60sbllIe BOIPOCOB, YeEM yKa3aHO B 3TOM Tabiuie. CTaTyc HHBAJUIHOCTH OIpeeseTcs
TPYZHOCTSIMU B BBITIOJIHCHUN OCHOBHBIX YHUBEPCATBHBIX JEUCTBHI 6€3 NCTIOIb30BaHUs
BCIIOMOTATENbHBIX MPUCIIOCOOICHUI MK Apyroi momouu. Hanpumep, ecTh HECKOJIBKO BOIIPOCOB,
CBSI3aHHBIX C MOOMIIBHOCTBIO, KOTOPBIE ONPECIISIOT TPYIHOCTH IPH XOI0€ ¢ MCII0JIb30BaHUEM
MIOMOIIH. DTH BOIIPOCHI HE BKJIIOYEHBI B IIPECTABICHHBIN 3/1€Ch aHATUTUYECKHUH TUIAH, OJJHAKO OHU
MOTYT OBbITh UCIIOJIB30BAHBI B IPYTUX aHAIIN3aX, I7ie OoJiee MoApOOHO U3yUaroT BIUSHUE Ha
(YHKITMOHMPOBAHKUE BCIIOMOTATEIBHBIX MTPUCTIOCOOICHHH (0e30aphepHOI OKPYKAOIIEH CPEIBI).

[Tpu onpenenennu UACHTU(HUKATOPOB MHBATUAHOCTH HCIIOIB3YIOTCS TOIBKO T€ BOMPOCHI/TIEPEMEHHBIE,
KOTOpbIE TPUBEICHBI HUXKE.

Yoeaurech, 4To Bbl Hcnosb3yere Te ke memku nepemennvix UJIN usmenure cuHTakcuc SAS,
4TOOBI OTPAKATH MEMKU NEPEMEHHBIX

B Bameii 6aze 1aHHbIX.

BI'-KO sBnsiercs yactbio HarmonansHOTo aHkeTHpOBaHUs 10 BoripocaM 3710poBbs (NHIS) CILIA.
JlaHHbIE, UCTIOIB30BaHHbIE /711 IOATOTOBKHU 3THX pekoMeHaauui, B3sa1el u3 NHIS 3a 2013 roa.

Ilpumeyanue ona nonvzoseameneir NHIS: umena nepemennvix 8 ¢haiiie OauHuIX U OOKyMEHMAyuu
NHIS moeym omauyamovcs om mex, 4mo UCHONL3YVIOMCA 8 IMOM OOKVMeHme, Hanpumep, nepemeHHas
oomena camooocayxcueanus, ynomunaemas kaxk SC-SS 6 smom oOokymenme, 6 ¢haiinie OamHvIX U
ooxymenmayuu NHIS naszvisaemcs UB_SS.

Koo SAS, ucnonvzyemviii 0na nonyuenus bIX0OHbIX OAHHBIX 8 IMOM OOKYMEHMme, NOIHOCHbIO GKIIIOYEH 8
Ilpunooicenue 1.

MeTka BapuanTtbl

Bonpocsl/10MeHbI pacuIMpeHHoro onpocuuka BI' o
Y a P p p nepemenHoii | OTBETOB

3PEHUE

1. UcnbiThiBaeTe i Bbl TPYAHOCTH CO 3peHHEM JaxKe MPH VIS_SS 1
HOLICHMHU 04YKOB?
OBILEHUE

2. UcnbiThiBaeTe Jin Bbl 3aTpy/iHeHHs IPU YCTHOM O0LIEHU U
(Hanpumep, YTOOBI NOHMMATH HJIN OBITH NOHATHIM)? COM_SS 1

CJIyxX

3. UcnbiThIBaeTE 1M BBl TPYIHOCTH €O CJIYXOM Jae NPH HEAR_SS 1

HCIOJIb30BAHMY CJIYXOBOI0 anmnapara?

4. Tpynno 1 Bam cablmaTs pasroBop ¢ OAHUM YeJI0BEKOM B
THXOH KOMHaTe?

HEAR 3 1

5. Tpyano au Bam caplmarth pa3roBop ¢ OJJHUM 4eJI0BEKOM B

LHIYMHOH KOMHaTe? HEAR 4 .

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:

Crp. |2 http://www.washingtongroup-disability.com/.


http://www.washingtongroup-disability.com/

INO3HAHHUE

6. UcnbiThIBaeTe Jiu Bbl 3aTpyIHeHHs P 3alIOMUHAHUM WJIH COG_SS

KOHUEHTPallMi BHUMAHHUA?

7. UcnbiThiBaeTe i Bbl 3aTpyAHeHNs NPH 3alIOMUHAHWA HJIH COG_1

KOHIIEHTPaliH{, WK B 000UX caydasx?

8. Kak yacro Bbl ucnibIThIBaeTe 3aTPY/AHEHHUsI TP 3aNIOMUHAHUM ? COG_2

9. Kakoe KoJiM4ecTBO NpeAMeToB Bam TpyaHOo 3an0MHHUTDH? COG_3

CAMOOBCJY KUBAHUE/BEPXHASA YACTD TEJIA

10. UcnbiThiBaeTe Jiu Bbl 3aTpyaHeHus (€ caM000CIy:KMBAHHEM, SC SS
HANpuMep) ¢ yMbIBaHMEM HJIH OJeBaHueM? -

11. UcnbiThIBaeTE 1 BbI 3aTpyAHEeHUs1, YTOOBI OAHATD 2- UB_1

JHUTPOBYIO OYTHLIKY BO/bI OT TAJUH 10 YPOBHS I1a3?

12. Hackoabko BaM TpyaHO HCII0JIB30BATH PYKH U NAJIBIBI? UB_2

MNOABUXKHOCTD

13. UcnbiThiBaeTe 11 Bbl 3aTpyaHeHnst Npu Xoab0e HiIn MOB_SS

MO/IHUMASICh 110 CTYNeHbKaM?

14. Tpyauno 1u Bam npoiitu 100 spaos (91 m) no poBHo# MOB 4
MOBEPXHOCTH 0e3 MOCTOPOHHEeH MOMOIIM WM 0e3 -
BCIIOMOIaTeJIbHOr0 000pPYA0BaHUA?

15. Tpyano 1u Bam npoiitu 1/3 musam (536 M) no posHoit MOB 5
IOBEPXHOCTH 0€3 NOCTOPOHHEH MOMOILIU HJIH 0e3 -
BCIIOMOTaTeJIbHOT0 000PYA0BAHUSA?

16. UcnibiThiBaeTe Jiu Bbl 3aTpyaHeHns1, YTOObI NOAHATHCS WIH

MOB_6
CIYCTHThCA Ha 12 cTyneHek? -

IMOIMNOHAJIBHOE COCTOSIHUE (TPEBOXKHOCTD)

17. Kak yacro Bbl yyBcTBYyeTe ce0s1 B3BOJIHOBAHHBIM, HEPBHBIM ANX_1

WJIM BCTPEBOKEHHbIM?

18. Hackoiibko cuiibHO Bbl yyBcTBYeTe ce0si B3BOJTHOBAHHBIM, ANX 3

HEPBHBIM WJIM BCTPEBOKEHHbIM ?

IMOINMNOHAJIBHOE COCTOSIHUE (AEITPECCHS)

19. Kak yacTo Bbl uyBcTBYyeTE ceds1 B Jenpeccun? DEP_1

20. Hacko1bK0 CHJIBHO Bbl 4yBCTBOBAJIM ce0s1 B AeNPECCUH DEP_3

nocJjeAHni pas?

BOJIb

21. Kak wacto Bsl wyBcTBOBaM 6016 32 IOCHIEIHNE 3 Mecsa? PAIN_2

22. HackonbKo cuiibHOM ObLia 00k B TOCIEHUI pa3, kornaa Bei ee PAIN_4

WCIIBITHIBAIN?

YCTAJIOCTb

23. Kak yacro 3a nocnennue 3 Mecsaua Bel ontynianu cuibHyo TIRED_1

YCTAJIOCTh UJIM UCTOIEHUE?

24. Kak 10ar0 JUIMI0Ch OIIYIICHUE YCTATOCTH WM UCTOIICHUS B TIRED_2

MOCJIETHUN pa3?

Crp. |3
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B MOCJIEIHUM pa3?

25. Hack0oabKO CHIIBHBIM OBLIO OIMYIICHHUEC YCTAIOCTHU UJIM UCTOLICHUSA

TIRED_3 6

MPUMEYAHUE:
(BT-KO).

Bce 25 Bonpocos BkitoyeHsl B BI'-PO 1.

KpaCHLIM OTMCHYCHBI BOITPOCHI KpaTKOFO OIIPOCHHKA Bammunrronckoit TpyHIibl

Bormpocsl, BbIieNIeHHbIE KPACHBIM TUTFOC CHHUM TUTIOC 3eJIeHbIM I[BETOM, BKItoueHbl B BI'-PO 2.

Bomnpocsl, BbIJIEIEHHBIE KPACHBIM IUTIOC 3€JIeHbIM LBETOM, BKiItoYeHbl B BI'-PO 3.

BapuaHTbI 0TBETOB:

JHU

Oopa3zen 1 Oo0pa3sen 2 Oopa3zen 3 Oopa3zen 4
1 | He ucneiTeiBaro 3aTpyIHEHUS TOJIBKO MPU NHuorna Hemnoro
3aTpyAHEHUI 3alIOMUHAHUHU IIPEIMETOB
2 | [a, uctibIThIBAIO 3aTpyIHEHUS TOJIBKO MpU Yacro MHoro
OIpEICIICHHBIE KOHIEHTpaluu
3aTpyAHEHMS
3 | da, ucnbIThIBaIO 3aTpyIHEHUS U C IlocTossHHO IToutn Bce
CEpbE3HBIC 3allOMMHAaHUEM, U C
3aTpyAHEHUS KOHLEHTpauuen
4 | He mory 310 nenath
7 | OTKa3bIBalOCh OTBEYATh
8 | He ycranoBneHo
9 | He 3naro
Oo6pasen 5 Oobpasen 6* Odpasen 7 Odbpasen 8
1 | ExxenneBno Hewmnoro Hwuxorna YacTts 1HS
2 | OnuH pa3 B HEACIIO MHoro B nekotopeie Bosnbiiyto yacth

JTHS

3 | OmuH pa3 B MecsIl

Yro-TO cpenHee MEeX Iy
«Hemuoro» u «MHoro»

BosapmuHacTBO
nHen

Becr nenn

4 | HeckonbKo pa3 B TroJ

Kaxnprii nens

5 | Hukorna

7 | OTKa3pIBarOCH
OTBCYATH

8 | He ycranorieno

9 | He 31ar0

* OBPATUTE BHUMAHMUE, YTO B IIPEJCTABJIEHHOM HU)KE CUHTAKCHUCE B
ITYHKTAX C OBPA3IIOM OTBETOB 6 (ANX_3, DEP_3, PAIN_4 U TIRED_3)
PEKOMEHAYETCHA YKA3BIBATD «HTO-TO MEXAY» AJIs1 YUCJTEHHOU

XAPAKTEPUCTHUKH OT «<HEMHOI'O» 10 «MHOI'O».

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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BI'-KO saBisercs yacteio BI'-PO. B BI'-PO no0aBiieHbI:
. JIOTIOJTHUTENBHBIE BOMPOCHI K 6 YK€ CYyIIECTBYIOIINM JOMEHAM U
. JOTIOJTHUTEIBHBIE TOMEHBI (HEKOTOPHhIE C HECKOJIBKUMH BOIIPOCAMHU ).

Cuntakcuc SAS, npencTaBleHHBIN HIXKE, BKITIOYAET B €051 HECKOIBKO 3JIEMEHTOB, XapaKTEPHBIX
tosbko i BI'-PO.

Bo-niepBbIX, BaKHO OBLIO OMPEACTUTh OTACIbHbBIC TOMEHHBIE HICHTU(DUKATOPHI TS TEX JOMEHOB
(YHKIMOHHPOBAHMS, KOTOPBIE BKITFOUAIA HECKOJIBKO BOIpocoB. Hampumep, GyHKIIMOHpOBaHKE
BEpPXHEW YacTH Telia BKIIIOYAaeT B ce0s Ba BOMPOCA, KAXK/IbIM U3 KOTOPBIX MOIpa3yMeBaeT
KOHKPETHBIC ¥ YHUKAJIbHBIC ACWCTBUS: 3aTPYAHCHUS B TOJHUMAHUU OYTBUIKU C BOJOH OT TaJIUU 10
YPOBHS TJ1a3 (PYKH/IUICYH) U 3aTPYAHCHHSI B HCIIOJIb30BAHNU PYK U TAIBIIEB. DTH JBa BOIPOCA OBLTH
MIPOAHATM3UPOBAHBI U 0OBEAMHEHBI [Tl MTOTYYSHHS OTAEIBHOI0 HHIMKATOpa 110 BEpXHEH 4acTu Telna
C YEThIPbMS YPOBHSAMHM 3aTPYJHEHUN, HAUMHAS OT 1 — HU3KUM YpOBEHb 3aTPyIHEHUN 10 4 —
BBICOKHMH YPOBEHb 3aTPYJHEHHUI. DTO MaJIO UEM OTJIMYAETCS OT KAaTErOPUMHBIX OTBETOB HA OTJIEJIbHbBIE
Bomnpockl BI'-KO: «He ucneiThiBato 3aTpynHeHu», « ICOBIThIBaIO ONpEEIECHHbIC 3aTPY IHECHUSD,
«HcnpiThiBato 6ombime 3atpynHeHus» u «He mory ato genate». Kak u it nomena BepxHeit yactu
tena, y nomeHoB BI'-PO Koruutusnsie ¢pynkmun, TpeBoxHOCTb, enpeccus, bons n Ycranocts
00pasIibl OTBETOB UMEIOT PAa3HBIN XapaKTep U HEJIETKO «IIEPEeBOISATCS» B OOBIYHBIN 00pasel] oTBeTa
BI'. JIns oTux n1oMeHoB (pyHKIIMOHUPOBAHUS Oblila pa3paboTaHa U aHHOTUPOBaHA aHAIOTUYHAsS
YETBIPEXYPOBHEBASI CXe€Ma OTBETa co 1Kanoil 14, rae 1 — camblif HU3KUM ypOBEHB 3aTpyIHEHUH, a 4
— CaMbIil BBICOKH.

BO-BTOpLIX, ObLIH OICHCHBI IMOKAa3aTCJIN IO OTACIIbHBIM JOMCHAM JIA OIIPCACIICHUA
COOTBCTCTBYIOIIIHX OFpaHI/I‘IGHI/Iﬁ JJIsI BKIIIOUCHUS B O6IIIPII>1 I/II[GHTI/I(l)I/IKaTop HWHBAJIMJHOCTH — B
OCJIX OLCHKH PACIIPOCTPAHCHHOCTH U ACJIICHUA HA IMOATPYIIIBI ToKa3aTesei craryca
HMHBAJIUIHOCTH.

HNPUMEYAHUE:

Jlnst Beex nepeMeHHbIX Kozl (7) Omraoneno, (8) He ycmanosneno u (9) He 3naio, epeKoJupyOTCs B
Omcymcmeyem.

SAS WG Extended Set Syntax Annotated with Output Tables

Actual SAS syntax is indented and are in Bold text.

NOTE: For data analysis, use your standard weighting and estimation techniques.

The syntax below produces frequency distributions on individual domain questions — cross-
tabulations on multiple domain questions, and calculates INDICATOR variables for domains with
multiple questions — for use in the determination of disability identifiers.

VISION

Step 1. Generate frequency distribution for Vision domain.

VIS_SS is the WG-SS Vision question.

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
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IfVIS_SSin (1, 2, 3, 4) then Vision=VIS_SS;
Else If VIS_SSin (7, 8, 9) then Vision=

Proc Freq Data=SS. ExtendedSets2013;

Tables Vision;
Run;
Vision: Degree of difficulty seeing
Valid Cumulative
Frequency Percent Percent Percent
Valid |No difficulty 13690 79.0 81.6 81.6
Some difficulty 2708 15.6 16.2 97.8
A lot of difficulty 333 1.9 2.0 99.8
Cannot do at all 36 2 2 100.0
Total 16767 96.8 100.0
Missing 559 3.2
Total 17326 100.0

COMMUNICATION

Step 2. Generate frequency distribution for Communication domain.

COM _SS is the WG-SS Communication question.
IfCOM_SSin (1, 2, 3,4) then Communication=COM _SS;
Else If COM_SSin (7, 8, 9) then Communication=;

Proc Freq Data=SS. ExtendedSets2013;
Tables Communication;

Run;

Communication: Degree of difficulty communicating using usual language

Valid Cumulative
Frequency Percent Percent Percent

Valid No difficulty 15874 91.6 94.7 94.7
Some difficulty 745 4.3 4.4 99.2
A lot of 94 5 .6 99.7
difficulty
Cannot do at all 43 2 3 100.0
Total 16756 96.7 100.0

Missing 570 3.3

Total 17326 100.0

HEARING

: listribut I R i1 doma : I

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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determine Hearing Indicator

HEAR_SS is the WG-SS Hearing question.
IfHEAR _SSiin (1, 2, 3, 4) then Hearing=HEAR_SS;
Else If HEAR_SS in (7, 8, 9) then Hearing=;

HEAR_3 is Difficulty hearing conversation with one person in quiet room.
If HEAR 3in (1, 2, 3, 4) then HEAR_3_R=HEAR_3;
Else If HEAR_3in (7, 8, 9) then HEAR_3 R=;

HEAR_4 is Difficulty hearing one person in noisier room.
ITHEAR 4in (1, 2, 3, 4) then HEAR_4 R=HEAR_4;
Else ITHEAR_4in (7, 8, 9) then HEAR_4_R=;

Proc Freq Data=SS. ExtendedSets2013;
Tables Hearing HEAR_3 R HEAR 4 R;

Run;
Hearing: Degree of difficulty hearing
Frequen Valid Cumulative
cy Percent Percent Percent
Valid  No difficulty 13680 79.0 81.6 81.6
Some difficulty 2753 15.9 16.4 98.0
A lot of difficulty 310 1.8 1.8 99.9
Cannot do at all 23 A 1 100.0
Total 16766 96.8 100.0
Missing 560 3.2
Total 17326 100.0

HEAR_3 R : Difficulty hearing conversation with one person in quiet room
Frequency Percent Valid Percent Cumulative Percent

Valid  No difficulty 15249  88.0 91.0 91.0
Some difficulty 1316 7.6 7.9 98.9
A lot of difficulty 162 9 1.0 99.9
Cannot do at all 10 1 1 100.0
Total 16737  96.6 100.0

Missing 589 3.4

Total 17326  100.0

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
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HEAR_4 R: Difficulty hearing one person in noisier room
Frequency Percent Valid Percent Cumulative Percent

Valid  No difficulty 11697 675 70.0 70.0
Some difficulty 4191 242 25.1 95.1
A lot of difficulty 779 4.5 4.7 99.7
Cannot do at all 48 3 3 100.0
Total 16715  96.5 100.0

Missing 611 3.6

Total 17326  100.0

Step 4. For Hearing questions, recode HEAR_3 R and HEAR_4 R to value 4 (cannot do at all) if
Hear_SS is 4 (Cannot do at all).

The syntax below recodes HEAR_3 R and HEAR_4 R to 4 (cannot do at all) if Hear_SS is 4 (cannot
do at all).

If Hearing = 4 and HEAR_3 R =. then HEAR_3 X =4;
Else HEAR_3 X=HEAR_3 R;

If Hearing = 4 and HEAR_4 R =. then HEAR_4_X =4;
Else HEAR_4 X=HEAR_4 R;

Proc Freq Data=SS. ExtendedSets2013;

Tables HEAR_3 X HEAR 4 X;
Run;

HEAR_3 X : Difficulty hearing conversation with one person in quiet room

Perc
Frequency ent Valid Percent Cumulative Percent
Valid  No difficulty 15249 88.0 91.0 91.0
Some difficulty 1316 7.6 7.9 98.8
A lot of difficulty 162 9 1.0 99.8
Cannot do at all 33 2 2 100.0
Total 16760 96.7 100.0
Missing 566 3.3
Total 17326 100.
0

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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HEAR_4_X: Difficulty hearing one person in noisier room
Frequency Percent Valid Percent Cumulative Percent

Valid  No difficulty
Some difficulty
A lot of difficulty
Cannot do at all
Total

Missing

Total

11697 67.5 69.9 69.9
4191 24.2 25.0 94.9
779 4.5 4.7 99.6
71 4 A4 100.0
16738 96.6 100.0
588 3.4
17326  100.0

Step 5. Generate a cross-tabulation of the two Hearing Extended Set questions: HEAR_3 X and

HEAR 4 X.

The syntax below produces a cross-tabulation of the two Extended Set questions: HEAR_3_X: Difficulty
hearing in a quiet room and HEAR 4 X: Difficulty hearing in a noisier room to determine a single

HEARING INDICATOR.

Proc Freq Data=SS. ExtendedSets2013;
Tables HEAR_4_X*HEAR_3 X /NOROW NOCOL NOPERCENT;

Run;
HEAR_3 X : Difficulty hearing conversation with one person
in quiet room
HEAR_4 X (Difficulty hearing Some A lot of Cannot do
in a Nosier room) No difficulty  difficulty  difficulty at all Total

No difficulty \ 11603 94 0 0 11697

Some difficulty | 3373 809 8 0 4190

A lot of difficulty | 253 388 138 0 779
Cannotdoatall | 8 24 16 23 71

Total 15237 1315 162 23 16737

Step 6. Create a HEARING INDICATOR (H_INDICATOR) based on the two additional hearing
questions HEAR_3 X and HEAR 4 X.

The syntax below creates a HEARING INDICATOR (H_INDICATOR) based on the cross-tabulation of
the two additional hearing questions HEAR_3_X and HEAR_4_X.

If (HEAR_3_X =1 AND HEAR_4_X = 1) OR (HEAR_3 X = 1 AND HEAR_4_X = 2)
then H_INDICATOR = 1;

Else If (HEAR 3 X =
AND HEAR 4 X = 3)

2 AND (HEAR 4 X =1ORHEAR 4 X =2))OR (HEAR 3 X =1
then H_INDICATOR = 2;

Else If (HEAR_3_X = 3 AND (HEAR 4 X = 1 OR HEAR 4 X = 2) OR (HEAR 3 X =2

AND HEAR 4 X = 3)

OR (HEAR_3_X = 1 AND HEAR_4 X = 4)) then H_INDICATOR =

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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3,
Else If (HEAR_3_X = 3 AND HEAR_4_X =3) OR HEAR_ 3 X =4 OR (HEAR 4 X =4
AND (HEAR 3 X =2 OR HEAR 3 X=3)))  then H_INDICATOR = 4;

Proc Freq Data=SS. ExtendedSets2013;
Tables H_INDICATOR;

Run;
H_INDICATOR
Frequency Percent Valid Percent Cumulative Percent
Valid |1.00 14976  86.4 89.4 89.4
2.00 1156 6.7 6.9 96.3
3.00 404 2.3 2.4 98.7
4.00 211 1.2 1.3 100.0
Total 16747  96.7 100.0
Missing 579 3.3
Total 17326  100.0

COGNITION: Degree of difficulty remembering or concentrating

Step 7. Generate frequency distributions and cross-tabulations for Cognition domain questions and
determine a Cognition Indicator.

COG_SS is the WG-SS Cognition question.
If COG_SSin (1, 2, 3, 4) then Cognition=COG_SS;
Else If COG_SSin (7, 8, 9) then Cognition=;

Proc Freq Data=SS. ExtendedSets2013;

Tables Cognition;
Run;

Cognition: Degree of difficulty remembering or concentrating

Valid Cumulative
Frequency Percent Percent Percent

Valid No difficulty 13719 79.2 81.9 81.9
Some difficulty 2632 15.2 15.7 97.6
A lot of difficulty 382 2.2 2.3 99.9
Cannot do at all 20 A 1 100.0
Total 16753 96.7 100.0

Missing 573 3.3

Total 17326 100.0

If response to COG-SS is some difficulty, a lot of difficulty or cannot do at all, then the respondent is
asked COG 1: whether they have difficulty remembering, concentrating or both.

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
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IfCOG_1in (1, 2, 3) then COG_1_R=COG_1;
Else If COG_11in (7, 8, 9) then COG_1_R=;

Proc Freq Data=SS. ExtendedSets2013;
Tables COG_1 R;

Run;
COG_1_R: Difficulty remembering, concentrating, or both?
Valid Cumulative
Frequency Percent  Percent Percent

Valid  Difficulty remembering only 983 5.7 32.4 32.4

Difficulty concentrating only 388 2.2 12.8 45.2

Difficulty with both remembering and 1659 9.6 54.8 100.0

concentrating

Total 3030 175 100.0
Missing 14296 82.5
Total 17326  100.0

Step 8. Account for those who did not answer COG_1 (COG_SS is 1 — no difficulty and they were
skipped) by recoding COG_1 to 0 (No difficulty).

If response to COG-SS is 1: no difficulty, then the variable COG_1 R is recoded into COG_1A, and the
value assigned is 0: no difficulty.

If COG_SS=1 then COG_1A=0;
Else COG_1A=COG_1 R;

Proc Freq Data=SS. ExtendedSets2013;
Tables COG_1A;

Run;

COG_1A: Difficulty remembering, concentrating, or both? (including no difficulty)

Valid Cumulative
Frequency Percent  Percent Percent
Valid  No difficulty 13719 792 81.9 81.9
Difficulty remembering only 983 5.7 5.9 87.8
Difficulty concentrating only 388 2.2 2.3 90.1
Difficulty with both remembering and 1659 9.6 9.9 100.0
concentrating
Total 16749  96.7 100.0
Missing 577 3.3
Total 17326 100.0

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
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Step 9. Generate frequency distribution for remaining cognition questions.

Frequency distribution of the Cognition extended REMEMBERING questions: COG_2 How often have
difficulty remembering, and COG_3 Amount of things you have difficulty remembering.

If COG_2in (1, 2, 3) then COG_2_R=COG_2;
Else If COG_2in (7, 8, 9) then COG_2_R=;

If COG_3in (1, 2, 3) then COG_3 R=COG_3;
Else If COG_3in (7, 8, 9) then COG_3_R=;

Proc Freq Data=SS. ExtendedSets2013;
Tables COG_2 R COG_3 R;

Run;
COG_2_R: How often have difficulty remembering?
Frequency Percent Valid Percent Cumulative Percent
Valid  Sometimes 1916 111 72.4 724
Often 513 3.0 19.4 91.8
All of the time 216 1.2 8.2 100.0
Total 2645 15.3 100.0
Missing 14681 84.7
Total 17326  100.0

COG_3_R: Amount of things you have difficulty remembering?

Cumulative
Frequency Percent Valid Percent Percent

Valid A few things 2119 12.2 80.3 80.3
A lot of things 386 2.2 14.6 94.9
Almost everything 134 8 5.1 100.0
Total 2639 15.2 100.0

Missing 14687 84.8

Total 17326  100.0

Step 10. Generate cross-tabulation of the two Cognition extended set questions COG_2R by COG_3 R.

The syntax below produces a cross-tabulation of the two Extended Set REMEMBERING questions:
COG_2_R: How often you have difficulty remembering and COG_3_R: The amount of things you have
difficulty remembering to determine a single REMEMBERING INDICATOR.

Proc Freq Data=SS. ExtendedSets2013;

Tables COG_2 R*COG_3 R /NOROW NOCOL NOPERCENT;
Run;

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
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COG_3 R: Amount of things you have difficulty

remembering?

COG_2_R: How often do you have Almost

difficulty remembering? A few things A lot of things  everything Total

How often have difficulty |Sometimes 1788 105 20 1913

remembering? Often 279 197 34 510
All of the time 51 84 80 215

Total 2118 386 134 2638

Step 11. Create a Remembering Indicator based on distribution of COG_2 R and COG_3 R.

The syntax below creates a REMEMBERING INDICATOR (R_INDICATOR) based on the two
additional remembering questions (COG_2_R and COG_3_R).

If Cognition is 1: no difficulty, then the Remembering Indicator is coded as 1: the lowest level of

difficulty.

If (Cognition = 1) then R_INDICATOR = 1;
Else If (COG_2 R=1AND COG 3 R=1)OR(COG_3 R=1ANDCOG_2 R=2)0R
(COG_3_R=2ANDCOG_2 R=1)) then R_INDICATOR = 2;
Else If (COG_3_R =2 AND COG_2_R =2) then R_INDICATOR = 3;
Else If (COG_3 R=30RCOG 2 R=3) thenR_INDICATOR =4;

Step 12. If COG_1A is coded as 2 (concentrating only), then the Remembering Indicator is coded as 5.

These 388 individuals are respondents who were not included in the Remembering Indicator since they
had only difficulty concentrating.

Else If(COG_1A = 2) then R_INDICATOR = 5;

Else

R_INDICATOR =0;

Step 13. Generate frequency distribution of the Remembering Indicator.

Proc Freq Data=SS. ExtendedSets2013;
Tables R_INDICATOR;

Run;
R_INDICATOR
Frequency Percent Valid Percent  Cumulative Percent
Valid .00 580 3.3 3.3 3.3
1.00 13719 79.2 79.2 82.5
2.00 2172 12,5 12,5 95.1
3.00 197 11 11 96.2
4.00 270 1.6 1.6 97.8
5.00 388 2.2 2.2 100.0
Total 17326 100.0 100.0
st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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Step 14. Supplement Remembering Indicator with information on difficulty concentrating.

The syntax below adds information on whether cognitive difficulties are compounded by difficulty
concentrating in addition to difficulty remembering.

Create a COGNITION INDICATOR (COG_INDICATOR) based on R_INDICATOR (above) and the
cognition question (COG_1 R).

The 388 individuals with ‘concentrating only’ were allocated as follows:

1. 357 with a little difficulty on Cognition question were classified as 2

2. 30 with a lot of difficulty on Cognition question were classified as 3

3. 1 with cannot do on Cognition question was classified as 4
Those with both remembering and concentrating difficulty were upgraded 36 individuals from 2 to 3,
and 125 individuals from 3 to 4.

COG_INDICATOR=R_INDICATOR;
If (R_INDICATOR =5 AND Cogpnition = 2) then COG_INDICATOR = 2;

Else If (R_INDICATOR =5 AND Cognition = 3) then COG_INDICATOR = 3;
Else If (R_INDICATOR =5 AND Cognition = 4) then COG_INDICATOR = 4;

If (R_INDICATOR =2 AND COG_1 R = 3 AND Cognition = 3) then COG_INDICATOR = 3;
Else If (R_INDICATOR = 3 AND COG_1_R =3 AND Cognition = 3) then
COG_INDICATOR = 4;

Step 15. Generate frequency distribution of the Cognition Indicator.

Proc Freq Data=SS. ExtendedSets2013;
Tables COG_INDICATOR;

Run;
COG_INDICATOR
Frequency Percent Valid Percent ~ Cumulative Percent
Valid .00 580 3.3 3.3 3.3
1.00 13719 79.2 79.2 82.5
2.00 2449 14.1 14.1 96.7
3.00 226 1.3 1.3 98.0
4.00 352 2.0 2.0 100.0
Total 17326 100.0 100.0
UPPER BODY

Step 16. Generate frequency distributions and cross-tabulations for Self-care and Upper body domain
questions and determine the Upper Body Indicator.

SC_SS is the WG-SS Self-care question.
UB_1 is Difficulty raising 2 liter bottle of water from waist to eye level.

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
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UB_2 is Difficulty using hands and fingers

IfSC_SSin (1, 2,3,4) then Self_Care=SC_SS;
Else If SC_SSin (7, 8, 9) then Self_Care=;

If UB_1in (1,2, 3, 4) then UB_1_R=UB_1;

Else IfUB_1in(7,8,9) then UB_1 R=;

If UB_2in (1, 2, 3, 4) then UB_2_R=UB_2;

Else IfTUB_2in (7, 8, 9) then UB_2 R=;

First, calculate frequency distributions on the short set and two extended set questions.

Proc Freq Data=SS. ExtendedSets2013;
Tables Self CareUB_1 RUB_2 R;
Run;

SELF_CARE: Degree of difficulty with self-care

Frequency Percent  Valid Percent Cumulative Percent
Valid No difficulty 16029 925 95.7 95.7
Some difficulty 544 3.1 3.2 98.9
A lot of difficulty 114 v v 99.6
Cannot do at all 68 A4 A4 100.0
Total 16755 96.7 100.0
Missing 571 3.3
Total 17326 100.0
UB_1 R: Diff raising 2 liter bottle of water from waist to eye level
Frequency Percent  Valid Percent Cumulative Percent
Valid No difficulty 15677 90.5 93.6 93.6
Some difficulty 743 4.3 4.4 98.0
A lot of difficulty 167 1.0 1.0 99.0
Cannot do at all 166 1.0 1.0 100.0
Total 16753 96.7 100.0
Missing 573 3.3
Total 17326 100.0
st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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UB_2 R: Degree of difficulty using hands and fingers

Frequency Percent  Valid Percent Cumulative Percent
Valid No difficulty 15199 87.7 90.7 90.7
Some difficulty 1229 7.1 7.3 98.1
A lot of difficulty 255 15 15 99.6
Cannot do at all 70 4 4 100.0
Total 16753 96.7 100.0
Missing 573 3.3
Total 17326 100.0

Step 17. Generate a cross-tabulation of the two Upper body Extended Set questions: UB_2_R and
UB_1 R.

The syntax below produces a cross-tabulation of the two Extended Set questions: UB_1_R: Difficulty
raising a 2 liter bottle of water from waste to eye level UB_2_R: Difficulty using hands and fingers to
determine a single UPPER BODY INDICATOR (UB_INDICATOR).

Proc Freq Data=SS. ExtendedSets2013;
TablesUB_2 R*UB_1 R/NOROW NOCOL NOPERCENT;

Run;
UB_1_R: Diff raising 2 liter bottle of water from
waist to eye level
Some A lot of Cannot
UB_2_R: Difficulty using hands and fingers No difficulty difficulty difficulty —doatall Total
Degree of difficulty ~ No difficulty | 14786 309 58 44 15197
using hands and Some difficulty \ 782 355 51 40 1228
fingers A lot of difficulty | 98 73 51 33 255
Cannot do at all ‘ 9 5 7 49 70
Total 15675 742 167 166 16750

Step 18. Create an UPPER BODY INDICATOR (UB_INDICATOR) based on the two additional upper
body questions UB_2 Rand UB_3 R.

Syntax below creates UB_INDICATOR based on the distribution in the cross-tabulation above.

If(UB_1 R=40RUB_2 R =4)then UB_INDICATOR = 4;
Else If UB_INDICATORNE 4 AND (UB_1 R=30RUB_2 R=3)

then UB_INDICATOR = 3;
Else If UB_INDICATOR NE 4 AND UB_INDICATORNE 3AND (UB_1 R=20RUB 2 R
=2) then UB_INDICATOR = 2;
Else If UB_INDICATOR NE 4 AND UB_INDICATOR NE 3 AND UB_INDICATOR NE 2
AND (UB_1 R=10RUB_2 R=1)then UB_INDICATOR =1,

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
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Proc Freq Data=SS. ExtendedSets2013;
Tables UB_INDICATOR;

Run;
UB_INDICATOR
Frequen
cy  Percent Valid Percent Cumulative Percent
Valid |1.00 14790 854 88.3 88.3
2.00 1448 8.4 8.6 96.9
3.00 331 1.9 2.0 98.9
4.00 187 1.1 11 100.0
Total 16756  96.7 100.0
Missing 570 3.3
Total 17326  100.0
MOBILITY

Step 19. Generate frequency distributions and cross-tabulations for Mobility domain questions and
determine Mobility Indicator.

MOB_SS is the WG-SS Mobility question.
MOB_4 is Difficulty walking 100 yards on level ground without aid or equipment.
MOB_5 is Difficulty walking 1/3rd mile on level ground without aid or equipment.

If MOB_SSin (1, 2, 3, 4) then Mobility=MOB_SS;
Else MOB_SS in (7, 8, 9) then Mobility=;

If MOB_4in (1, 2, 3, 4) then MOB_4_R=MOB _4;
Else If MOB_4in (7, 8, 9) then MOB_4 R=

If MOB_5in (1, 2, 3,4) then MOB_5_R=MOB_5;
Else If MOB_5in (7, 8, 9) then MOB_5 R=

First, calculate frequency distributions on the short set and two extended set WALKING questions.
Proc Freq Data=SS. ExtendedSets2013;
Tables Mobility MOB_4 R MOB 5 R;
Run;

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
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Mobility: Degree of difficulty walking or climbing steps

Valid Cumulative
Frequency Percent Percent Percent
Valid No difficulty 13424 775 80.1 80.1
Some difficulty 2165 12.5 12.9 93.0
A lot of difficulty 792 4.6 4.7 97.7
Cannot do at all 380 2.2 2.3 100.0
Total 16761 96.7 100.0
Missing 565 3.3
Total 17326 100.0
MOB_4 R: Diff walking 100 yards on level ground w/o aid or equipment
Cumulative
Frequency Percent ~ Valid Percent Percent
Valid No difficulty 13892 80.2 84.8 84.8
Some difficulty 1369 7.9 8.4 93.2
A lot of difficulty 491 2.8 3.0 96.2
Cannot do at all 623 3.6 3.8 100.0
Total 16375 945 100.0
Missing 951 5.5
Total 17326 100.0
MOB_5 R: Diff walking 1/3rd mile on level ground w/o aid or equipment
Cumulative
Frequency Percent ~ Valid Percent Percent
Valid No difficulty 13025 75.2 82.8 82.8
Some difficulty 1650 9.5 10.5 93.3
A lot of difficulty 708 4.1 4.5 97.8
Cannot do at all 347 2.0 2.2 100.0
Total 15730 90.8 100.0
Missing 1596 9.2
Total 17326 100.0

Step 20. Generate a cross-tabulation of the walking distance questions: MOB_4 R and MOB_5_R.

The syntax below produces a cross-tabulation of the two Extended Set WALKING questions:
MOB_4 R: Difficulty walking 100 yards without equipment and MOB_5_R: Difficulty walking 1/3 mile
without equipment to determine a single WALKING INDICATOR.

NOTE: 623 individuals who responded cannot do at all to MOB_4 R were not asked MOB_5 R and
they do not appear in the table below. They are, however, accounted for in the WALKING indicator

Ctp. | 18
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calculation.

Proc Freq Data=SS. ExtendedSets2013;

Tables MOB_4 R*MOB_5 R/NOROW NOCOL NOPERCENT;
Run;

MOB_4 R: Diff walking 100  MOB_5_ R: Diff walking 1/3rd mile on level ground w/o aid or

yards on level ground w/o aid or equipment
equipment Some A lot of Cannot do
No difficulty  difficulty difficulty at all Total
No difficulty‘ 12950 819 63 39 13871
Some difficulty | 72 810 343 142 1367
A lot of difficulty | 3 21 301 166 491
Cannot do at all (623) | 0 0 0 0 0
Total 13025 1650 707 347 15729

Step 21. Create a WALKING INDICATOR (WALK_INDICATOR) based on the two additional walking

questions MOB_4 R and MOB_5_R.

Syntax below creates WALKING_INDICATOR based on the distribution in the cross-tabulation above.

WALK_INDICATOR=0;

If (MOB_4 R=1AND (MOB_5 R=10R MOB_5_R = 2)) then WALK_INDICATOR = 1;
Else If (MOB_4_R =1 AND MOB_5 R =3)OR (MOB_4 R=2AND (MOB 5 R=10R

MOB_5 R =2 OR MOB_5_R = 3)) then WALK_INDICATOR = 2;

Else If (MOB_4 R =1 AND MOB_5 R =4) OR (MOB_4 R =3 AND (MOB_5 R =1OR

MOB_5 R =2 OR MOB_5 R = 3)) then WALK_INDICATOR = 3;
Else If (MOB_4 R=2 AND MOB_5 R =4) OR (MOB_4 R=3 AND MOB_5 R =4)
then WALK_INDICATOR = 4;
Syntax below includes the 623 who responded cannot do at all to MOB_4 R into the WALKING
INDICATOR.

Else If (WALK_INDICATOR =0 AND MOB_4_R = 4) then WALK_INDICATOR = 4;
If WALK _INDICATOR=0 then WALK_INDICATOR=;
Proc Freq Data=SS. ExtendedSets2013;

Tables WALK_INDICATOR;
Run;

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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WALK_INDICATOR

Valid Cumulative
Frequency Percent Percent Percent

Valid |1.00 13769 79.5 84.2 84.2
2.00 1288 7.4 7.9 92.1
3.00 364 2.1 2.2 94.3
4.00 931 54 5.7 100.0
Total 16352 94.4 100.0

Missing 974 5.6

Total 17326 100.0

Step 22. Supplement Walking Indicator with information on difficulty Climbing steps (MOB_6).

Syntax below adds information from MOB_6 on difficulty climbing up or down 12 steps to create a
combined Mobility Indicator (MOB_INDICATOR).

If MOB_6 in (1, 2, 3, 4) then MOB_6_R=MOB_6;
Else If MOB_6 in (7, 8, 9) then MOB_6_R=.

Proc Freq Data=SS. ExtendedSets2013;
Tables WALK_INDICATOR* MOB_6 R /NOROW NOCOL NOPERCENT;

Run;
MOB_6_R: Difficulty climbing up or down 12 steps
Some A lot of Cannot do at
WALK INDICATOR No difficulty  difficulty difficulty all Total
walk_INDICATOR2 1.00 13048 645 55 17 13765
2.00 370 767 135 16 1288
3.00 43 106 200 14 363
4.00 79 242 226 384 931
Total 13540 1760 616 431 16347

According to the table above, the syntax below reclassifies:

1. 55 individuals with level 1 on the WALKING INDICATOR as level 2 on the MOBILITY
INDICATOR

2. 17 individuals with level 1 on the WALKING INDICATOR and 135 individuals with level 2 on
the WALKING INDICATOR as level 3 on the MOBILITY INDICATOR, and

3. 16 individuals with level 2 on the WALKING INDICATOR as level 4 on the MOBILITY
INDICATOR.

Step 23. Create a mobility indication (MOB_INDICATOR) with information garnered from cross-
tabulation above.

MOB_INDICATOR = WALK_INDICATOR;

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
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If (WALK_INDICATOR =2 AND MOB_6_R = 3) then MOB_INDICATOR = 3:
Else If (WALK_INDICATOR =1 AND MOB_6_R = 3) then MOB_INDICATOR = 2;
Else If (WALK_INDICATOR = 2 AND MOB_6_R = 4) then MOB_INDICATOR = 4;
Else If (WALK_INDICATOR =1 AND MOB_6_R = 4) then MOB_INDICATOR = 3;

Proc Freq Data=SS. ExtendedSets2013;
Tables MOB_INDICATOR,;

Run;
MOB_IDICATOR
Valid Cumulative
Frequency Percent Percent Percent
Valid 1.00 13697 79.1 83.8 83.8
2.00 1192 6.9 7.3 911
3.00 516 3.0 3.2 94.2
4.00 947 5.5 5.8 100.0
Total 16352 94.4 100.0
Missing 974 5.6
Total 17326 100.0
ANXIETY

Step 24.Generate frequency distribution on ANX_1.

First, calculate frequency distributions on ANX_1: How often do you feel worried, nervous or anxious?
ITANX _1in (1, 2, 3, 4,5) then ANX_1 R=ANX_1;
Else If ANX 1in (7,8, 9) then ANX 1 R=;

Proc Freq Data=SS. ExtendedSets2013;
Tables ANX 1 R;

Run;
ANX 1 R: How often feel worried, nervous, or anxious?
Frequency Percent Valid Percent Cumulative Percent
Valid Daily 1632 9.4 9.8 9.8
Weekly 1872 10.8 11.2 21.0
Monthly 1558 9.0 9.3 30.4
A few times a year 4898 28.3 29.4 59.7
Never 6714  38.8 40.3 100.0
Total 16674 96.2 100.0
Missing 652 3.8
Total 17326  100.0
st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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Step 25. The syntax below recodes ANX_3 into ANX_3Y
1) to create a NOT ASKED category based on those who responded NEVER to ANX_1 R and
2) to place “SOMEWHERE BETWEEN " numerically in-between “A LITTLE” and “A LOT”.

ITf ANX_3 =1 then ANX_3Y=1,

Else If ANX_3 =2 then ANX_3Y=3;

Else If ANX_3 =3 then ANX_3Y=2;

Else If ANX _3in (7, 8, 9) then ANX _3Y=;

Recode ANX_3Y to 0 (not asked) If ANX_1 is 5 (Never).

If ANX_1 =5 then ANX_3Y=0;
Proc Freq Data=SS. ExtendedSets2013;

Tables ANX_3Y;
Run;

ANX _3Y: Level of feelings last time felt worried/nervous/anxious

Valid Cumulative
Frequency Percent  Percent Percent

Valid Not asked 6714 38.8 40.3 40.3
A little 5700 32.9 34.2 74.5
In between a little and a lot 3076 17.8 18.5 92.9
A lot 1176 6.8 7.1 100.0
Total 16666 96.2 100.0

Missing 660 3.8

Total 17326 100.0

Step 26. Generate a cross-tabulation of the anxiety Extended Set questions: ANX_1 R and ANX_3Y.

The syntax below produces a cross-tabulation of ANX_1 R: How often you felt worried, nervous or
anxious (a measure of frequency) and ANX_3Y: The level of those feeling the last time you felt worried,
nervous or anxious (a measure of intensity) — used to determine a single ANXIETY INDICATOR
(ANX_INDICATOR).

Proc Freq Data=SS. ExtendedSets2013;
Tables ANX_3Y*ANX 1 R/NOROW NOCOL NOPERCENT;
Run;
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ANX 1 R: How often feel worried, nervous or anxious?

ANX _3Y: Level of feelings last time

felt worried, nervous or anxious Daily
Not asked | 0

A little | 489
In between a little and a lot | 589
A lot | 548
Total 1626

A Few Times
Weekly Monthly A Year Never = Total
0 0 0 6714 6714
887 897 3417 0 5690
725 535 1221 0 3070
256 123 248 0 1175
1868 1555 4886 6714 16649

Step 27. Create an ANXIETY INDICATOR (ANX_INDICATOR) based on the two anxiety questions

ANX_1_R and ANX_3Y.

Syntax below creates ANX_INDICATOR based on the distribution in the cross-tabulation above.

IT (missing(ANX_1_R) OR missing(ANX_3Y)) then ANX_INDICATOR=;
Else If (ANX_3Y le 4 AND (ANX_1 R =4 OR ANX_1_R =5)) then ANX_INDICATOR=1;

Else If (ANX_1_R =3) OR (ANX_1_R

LT 3 AND ANX_3Y=1) OR

(ANX_1 R =2 AND ANX_3Y = 2)) then ANX_INDICATOR = 2;
Else If (ANX_1_R =1 AND ANX_3Y =2) OR (ANX_1_R =2 AND ANX_3Y = 3))

then ANX_INDICATOR = 3;

Else If (ANX_1_R =1 AND ANX_3Y = 3) then ANX_INDICATOR = 4;

Proc Freq Data=SS. ExtendedSets2013;
Tables ANX_INDICATOR;

Run;
ANX_INDICATOR
Valid Cumulative
Frequency Percent Percent Percent
Valid 1.00 11600 67.0 69.7 69.7
2.00 3656 21.1 22.0 91.6
3.00 845 4.9 5.1 96.7
4.00 548 3.2 3.3 100.0
Total 16649 96.1 100.0
Missing 677 3.9
Total 17326 100.0
DEPRESSION

Step 28.Generate frequency distribution on DEP_1.
First, calculate frequency distributions on DEP_1: How often do you feel depressed?

If DEP_1in (1, 2, 3,4, 5) then DEP_1_R=DEP_1;
Else IfDEP_1in (7, 8,9) then DEP_1 R=;

Else DEP_1 R=;

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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Proc Freq Data=SS. ExtendedSets2013;
Tables DEP_1 R;

Run;
DEP_1 R: How often do you feel depressed?
Frequency Percent Valid Percent Cumulative Percent
Valid Daily 756 4.4 4.5 4.5
Weekly 926 5.3 5.6 10.1
Monthly 1038 6.0 6.2 16.3
A few times a year 4012 232 24.1 40.4
Never 9929 57.3 59.6 100.0
Total 16661 96.2 100.0
Missing 665 3.8
Total 17326  100.0

Step 29. The syntax below recodes DEP 3 into DEP _3Y to place “SOMEWHERE BETWEEN"
numerically in-between “A LITTLE” and “A LOT”. It also creates the category NOT ASKED, if DEP_1
is NEVER (1)

If DEP_3 =1 then DEP_3Y=1;

Else If DEP_3=2 then DEP_3Y=3;

Else If DEP_3=3 then DEP_3Y=2,;

Else If DEP_3in (7,8,9) then DEP_3Y=,

If DEP_1 =5 then DEP_3Y=0;

Proc Freq Data=SS. ExtendedSets2013;
Tables DEP_3Y;

Run;
DEP_3Y: Level of feelings last time felt depressed
Frequency Percent Valid Percent Cumulative Percent
Valid  Not asked 9929 57.3 59.6 59.6
A little 3775 21.8 22.7 82.3
In between a little and a lot 2016 11.6 12.1 94.4
A lot 935 54 5.6 100.0
Total 16655 96.1 100.0
Missing 671 3.9
Total 17326  100.0

Step 30. Generate a cross-tabulation of the depression Extended Set questions: DEP_1 R and DEP_3Y.

The syntax below produces a cross-tabulation of DEP_1_R: How often do you feel depressed (a measure
of frequency) and DEP_3Y: The level of those feeling the last time you felt depressed (a measure of
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intensity) — used to determine a single DEPRESSION INDICATOR (DEP_INDICATOR).

Proc Freq Data=SS. ExtendedSets2013;
Tables DEP_3Y*DEP_1 R/NOROW NOCOL NOPERCENT;

Run;
DEP_1 R: How often do you feel depressed?

DEP_3Y: Level of feelings last time A Few Times
felt depressed Daily  Weekly Monthly A Year Never Total
Not asked | 0 0 0 0 9929 9929
A little | 161 346 548 2708 0 3763
In between a little and a lot | 209 384 378 1042 0 2013
A lot | 381 191 112 248 0 932
Total 751 921 1038 3998 9929 16637

Step 31. Create a DEPRESSION INDICATOR (DEP_INDICATOR) based on the two depression
questions DEP_1 R and DEP_3Y.

Syntax below creates DEP_INDICATOR based on the distribution in the cross-tabulation above.

If (missing(DEP_1_R) OR missing(DEP_3Y)) then DEP_INDICATOR = ;

Else If (DEP_3Y Le 4 AND (DEP_1 R=40OR DEP_1 R =5)) then DEP_INDICATOR=1,
Else If (DEP_1_R=3)OR (DEP_1_RLT 3 AND DEP_3Y=1) OR

(DEP_1 =2 AND DEP_3Y = 2)) then DEP_INDICATOR = 2;

Else If (DEP_1 R=1 AND DEP_3Y =2) OR (DEP_1_R =2 AND DEP_3Y =3))

then DEP_INDICATOR = 3;

Else If (DEP_1 R =1 AND DEP_3Y = 3) then DEP_INDICATOR = 4;

Proc Freq Data=SS. ExtendedSets2013;
Tables DEP_INDICATOR;

Run;
DEP_INDICATOR
Valid Cumulative
Frequency Percent Percent Percent

Valid 1.00 13927 80.4 83.7 83.7

2.00 1929 111 11.6 95.3

3.00 400 2.3 2.4 97.7

4.00 381 2.2 2.3 100.0

Total 16637 96.0 100.0
Missing 689 4.0
Total 17326 100.0

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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PAIN

Step 32.Generate frequency distribution on PAIN_2.
First, calculate frequency distributions on PAIN_2: Frequency of pain in the past 3 months.

If PAIN_2in (1, 2, 3, 4) then PAIN_2_R=PAIN_2;
Else If PAIN_2 in (7, 8, 9) then PAIN_2 R=;

Proc Freq Data=SS. ExtendedSets2013;
Tables PAIN_2 R;

Run;
PAIN_2 R: Frequency of pain in past 3 months
Valid Cumulative
Frequency Percent Percent Percent
Valid  Never 6636 38.3 39.8 39.8
Some days 6556 37.8 39.3 79.2
Most days 1227 7.1 7.4 86.5
Every day 2245 13.0 13.5 100.0
Total 16664 96.2 100.0
Missing 662 3.8
Total 17326 100.0

Step 33. The syntax below recodes PAIN 4 into PAIN 4Y to place “SOMEWHERE BETWEEN”
numerically in-between “A LITTLE” and “A LOT”. It also creates the category NOT ASKED, if
PAIN_2 is NEVER (1).

If PAIN_4 =1 then PAIN_4Y=1;
Else If PAIN_4 =2 then PAIN_4Y=3;
Else If PAIN_4 =3 then PAIN_4Y=2;
Else If PAIN_4 in (7,8,9) then PAIN_4Y=;

If PAIN_2=1 then PAIN_4Y=0;

Proc Freq Data=SS. ExtendedSets2013;
Tables PAIN_4Y;
Run;

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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PAIN_4Y: How much pain you had last time you had pain?
Frequency Percent Valid Percent Cumulative Percent

Valid  Not asked 6636 38.3 39.8 39.8
A little 4865 28.1 29.2 69.0
In between a little and a lot 3296 19.0 19.8 88.8
A lot 1869 10.8 11.2 100.0
Total 16666 96.2 100.0

Missing 660 3.8

Total 17326  100.0

Step 34. Generate a cross-tabulation of the PAIN Extended Set questions: PAIN_2_ R and PAIN_4Y.

The syntax below produces a cross-tabulation of PAIN_2_R: Frequency of pain in the past 3 months and
PAIN_4Y: How much pain you has the last time you had pain (a measure of intensity) — used to
determine a single PAIN INDICATOR (P_INDICATOR).

Proc Freq Data=SS. ExtendedSets2013;
Tables PAIN_4Y*PAIN_2_R/NOROW NOCOL NOPERCENT;

Run;
PAIN_2 R: Frequency of pain in past 3 months
PAIN_4Y: How much pain you Some Most Every
had last time you had pain Never days days day Total
Not asked 6636 0 0 0 6636
A little 0 4136 323 401 4860
In between a little and a lot 0 1772 624 896 3296
A lot 0 645 278 944 1867
Total 6636 6553 1225 2241 16655

Step 35. Create a PAIN INDICATOR (P_INDICATOR) based on the two PAIN questions PAIN_2_R and
PAIN_4Y.

Syntax below creates P_INDICATOR based on the distribution in the cross-tabulation above.
If (PAIN_2 R=1)OR (PAIN_4Y =1 AND (PAIN_2 R=2OR PAIN_2 R =3)) then
P_INDICATOR =1,
Else If (PAIN_2_R =2 AND (PAIN_4Y =2 OR PAIN_4Y = 3)) OR (PAIN_2_R =3 AND
PAIN_4Y =2) OR (PAIN_2 R =4 AND PAIN_4Y = 1)) then P_INDICATOR = 2;
Else If (PAIN_2_R =3 AND PAIN_4Y = 3) OR (PAIN_2_R =4 AND PAIN_4Y =2) then
P_INDICATOR = 3;
Else If (PAIN_2 R =4 AND PAIN_4Y = 3) then P_INDICATOR = 4;

Proc Freq Data=SS. ExtendedSets2013;
Tables P_INDICATOR;

Run;
P_INDICATOR
st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
Crp. | 27 p

http://www.washingtongroup-disability.com/.


http://www.washingtongroup-disability.com/

Frequency Percent Valid Percent Cumulative Percent

Valid  1.00 11095  64.0 66.6 66.6
2.00 3442 199 20.7 87.3
3.00 1174 6.8 7.0 94.3
4.00 944 5.4 5.7 100.0
Total 16655  96.1 100.0

Missing 671 3.9

Total 17326  100.0

FATIGUE (Tired)

Step 36.Generate frequency distribution on FATIGUE Extended Set questions Tired_1, Tired_2 and
Tired_3.
First, calculate frequency distributions on TIRED_1: How often you felt tired in the past 3 months.
If TIRED_1in (1, 2, 3,4) then TIRED_1_R=TIRED _1;
Else If TIRED 1in (7, 8, 9) then TIRED 1 R=;

Proc Freq Data=SS. ExtendedSets2013;
Tables TIRED 1 R;
Run;

TIRED_1_R:How often felt very tired or exhausted in past 3 months

Frequen Valid Cumulative
cy Percent Percent Percent

Valid Never 5619 324 33.7 33.7
Some days 8391 48.4 50.4 84.1
Most days 1632 9.4 9.8 93.9
Every day 1019 5.9 6.1 100.0
Total 16661 96.2 100.0

Missing 665 3.8

Total 17326 100.0

Step 37. Recode Tired_2 to 0 (not asked) if Tired_1 is 1 (Never).
If response to TIRED 1 is 1: Never, then TIRED_2 (How long most recent tired or exhausted feelings
lasted) is not asked. This variable is recoded so these individuals are included in the syntax below.

If TIRED_2in (1, 2, 3) then TIRED_2_R=TIRED _2;
Else If TIRED_2in (7, 8, 9) then TIRED_2 R=;
Else TIRED_2 R=;

If TIRED_1 =1 then TIRED_2_R=0;
Proc Freq Data=SS. ExtendedSets2013;
Tables TIRED 2 R;

Run;

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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TIRED_2_R: How long most recent tired or exhausted feelings lasted?

Valid Cumulative
Frequency  Percent Percent Percent

Valid  Not asked 5619 324 33.8 33.8
Some of the day 8036 46.4 48.3 82.0
Most of the day 1955 11.3 11.7 93.8
All of the day 1036 6.0 6.2 100.0
Total 16646 96.1 100.0

Missing 680 3.9

Total 17326 100.0

Step 38. The syntax below recodes TIRED 3 into TIRED 3Y to place “SOMEWHERE BETWEEN”
numerically in-between “A LITTLE” and “A LOT”.

Also, if response to TIRED_1 is 1: Never, then TIRED_3 (Level of tiredness) is not asked. This variable
is recoded so these individuals are included in the syntax below.

If TIRED_3 =1 then TIRED_3Y=1,

Else If TIRED_3 =2 then TIRED_3Y=3;

Else If TIRED_3 =3 then TIRED_3Y=2;

Else If TIRED_3in (7, 8, 9) then TIRED_3Y=

If TIRED_1=1 then TIRED_3Y=0;

Proc Freq Data=SS. ExtendedSets2013;
Tables TIRED_3Y;

Run;
TIRED_3Y: Level of tiredness
Valid Cumulative
Frequency Percent Percent Percent
Valid  Not asked 5619 324 33.8 33.8
A little 4912 28.4 29.5 63.3
In between a little and a lot 4030 23.3 24.2 87.5
A lot 2087 12.0 125 100.0
Total 16648 96.1 100.0
Missing 678 3.9
Total 17326 100.0

Step 39. Generate a cross-tabulation of the FATIGUE Extended Set questions: TIRED_1 R,
TIRED_2_R and TIRED_3Y.

The syntax below produces a cross-tabulation of TIRED_1 R: How often you felt tired or exhausted in
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the past 3 months (a measure of frequency) and TIRED_2_R: How long those feelings lasted (a measure
of duration) and TIRED_3Y: The level of tiredness (a measure of intensity) — used to determine a single
TIRED INDICATOR (T_INDICATOR).

Proc Freq Data=SS. ExtendedSets2013;

Tables TIRED_3Y* TIRED_2_R*TIRED_1 R /NOROW NOCOL NOPERCENT;

Run;

TIRED_1: How often felt very tired or
TIRED_3Y: Level TIRED_2: Howlong  exhausted in past 3 months: Frequency
of tiredness: feelings lasted: Some Most
Intensity Duration Never days days Every day | Total
Not asked Not asked 5619 5619
A little Some of the day 4066 264 124 4454
Most of the day 252 73 27 352
All of the day 68 15 18 101
In between Some of the day 2224 400 166 2791
Most of the day 497 266 123 887
All of the day 194 71 84 349
A lot Some of the day 536 165 84 785
Most of the day 297 255 160 713
All of the day 237 118 230 585
TOTAL 5619 8371 1627 1016 16633

Step 40. Create a FATIGUE INDICATOR (T_INDICATOR) based on the three FATIGUE questions
TIRED_1 R, TIRED_2 R and TIRED_3Y.

Syntax below creates T_INDICATOR based on the distribution in the cross-tabulation above.

If (TIRED_1_R = 1) then T_INDICATOR = 1;

Else If (TIRED_1_R =2 AND TIRED_2 R =1 AND TIRED_3Y = 1) then T_INDICATOR = I;

Else If (TIRED_L R =3 AND TIRED 2 R =1 AND TIRED_3Y = 1) then T_INDICATOR = 1;

Else If (TIRED_1_Rin (2, 3, 4) AND TIRED 2 R in (2,3) AND TIRED_3Y =1) then T_INDICATOR
= 2;

Else If (TIRED_1_Rin (2, 3, 4) AND TIRED 2 R =1 AND TIRED_3Y =2) then T_INDICATOR = 2;
Else If (TIRED_1_R =2 AND TIRED_2_R =2 AND TIRED_3Y =2) then T_INDICATOR = 2;

Else If (TIRED_1_R =4 AND TIRED_2_R =1 AND TIRED_3Y =1) then T_INDICATOR =2;

Else If (TIRED_1_R in (3, 4) AND TIRED_2_R =2 AND TIRED_3Y =2) then T_INDICATOR = 3;
Else If (TIRED_1_Rin (2, 3, 4) AND TIRED_2_R =3 AND TIRED_3Y =2) then T_INDICATOR =3;
Else If (TIRED_L R in (2, 3, 4) AND TIRED 2 R =1 AND TIRED_3Y =3) then T_INDICATOR =3:
Else If (TIRED_L R in (2, 3) AND TIRED 2 R =2 AND TIRED_3Y =3) then T_INDICATOR = 3;
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Else If (TIRED_1_R =2 AND TIRED_2_R =3 AND TIRED_3Y =3) then T_INDICATOR = 3;

Else If (TIRED_1_R =4 AND TIRED_2 R =2 AND TIRED_3Y =3) then T_INDICATOR =4;

Else If (TIRED_1_Rin (3, 4) AND TIRED_2 R =3 AND TIRED_3Y =3) then T_INDICATOR = 4;
Else T_INDICATOR = .;

Proc Freq Data=SS. ExtendedSets2013;
Tables T_INDICATOR;

Run;
T_Indicator
Valid Cumulative
Frequency Percent Percent Percent
Valid  1.00 9949 57.4 59.8 59.8
2.00 3864 22.3 23.2 83.0
3.00 2312 13.3 13.9 96.9
4.00 508 2.9 3.1 100.0
Total 16633 96.0 100.0
Missing 693 4.0
Total 17326 100.0
Creating Disability Status Indicators
Type of Disability Indicator Number of Questions
SS_1 Short Set (SS) 6

Extended Set

SS + Hearing-indicator, Mobility-indicator, Cognition-indicator,

=51 Upper Body-indicator + PFAD (4)* 25

ES 2 SS + Hearinq_—ingjicator, Mobility—indicator, Cognition-indicator, 20
—“  Upper Body-indicator + AD (4)’

Short Set Enhanced

ES 3 SS + Upper Body-indicator + AD (4)* 12

* PFAD (4): Pain, Fatigue, Anxiety and Depression Indicators at level 4
T AD (4): Anxiety and Depression Indicators at level 4

SS_1: WG Short Set Disability Indicator based on the 6 short set questions
The syntax below calculates the WG Short Set Disability Indicator based on the six short set questions

SS_1 at the recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT
OE DIFFICUL TY or CANNOT DO ATALL
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IT (missing(vision) AND missing(hearing) AND missing(mobility) AND
missing(communication) AND missing(Self_Care) AND missing(Cognition)) then SS_1 = ;
Else If ((vision = 3 OR vision = 4) OR (hearing= 3 OR hearing =4) OR

(mobility= 3 OR mobility = 4) OR (communication= 3 OR communication = 4) OR
(Self_Care = 3 OR Self_Care = 4) OR (Cognition = 3 OR Cognition = 4)) then SS_1=1;

Else SS_1=2;
Proc Freq Data=SS. ExtendedSets2013;
Tables SS_1;
Run;
SS_1: WG Short Set Disability Identifier
Valid Weighted
Frequency Percent Percent Estimate
Valid WITHOUT DISABILITY 14905 86.0 88.8 90.5
WITH DISABILITY 1872 10.8 11.2 9.5
Total 16777 96.8 100.0
Missing 549 3.2
Total 17326 100.0

ES_1: SS_1 + Hearing-indicator, Mobility-indicator, Cognition-indicator + Upper Body-indicator
+PFAD (4)

The syntax below calculates an Extended Set Disability Indicator (ES_1) based on 25 questions at the
recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT OF
DIFFICULTY or CANNOT DO AT ALL for the six short set question; severity levels 3 or 4 for the
Hearing-, Mobility-, Cognition- and Upper body-Indicators; and severity level 4 for Pain-, Fatigue-,
Anxiety- and Depression-Indicators.

If ( missing(SS_1) AND (H_INDICATOR LT 1 OR H_INDICATOR GT 4) AND
(MOB_INDICATOR LT 1 OR MOB_INDICATOR GT 4) AND missing(COM_SS) AND
missing(SC_SS) AND (COG_INDICATOR LT 1 OR COG_INDICATOR GT 4) AND
(UB_INDICATOR LT 1 OR UB_INDICATOR GT 4) AND missing(P_INDICATOR) AND
(T_INDICATOR LT 1 OR T_INDICATOR GT 4) AND (ANX_INDICATOR LT 10OR
ANX_INDICATOR GT 4) AND (DEP_INDICATOR LT 1 OR DEP_INDICATOR GT 4))
then ES 1=;

Else If (SS_1=10OR (H_INDICATOR =3 OR H_INDICATOR = 4) OR (MOB_INDICATOR
=3 OR MOB_INDICATOR = 4) OR (COG_INDICATOR = 3 OR COG_INDICATOR =4) OR
(UB_INDICATOR =3 OR UB_INDICATOR =4) OR P_INDICATOR =4 OR T_INDICATOR
=4 OR ANX_INDICATOR =4 OR DEP_INDICATOR = 4) then ES_1=1;

Else ES 1=2;

Proc Freq Data=SS. ExtendedSets2013;
TablesES 1;
Run;
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ES 1: WG-ES Disability Indicator based on 11 domains and 25 questions
Valid Weighted

Frequency Percent Percent Estimate
Valid WITHOUT DISABILITY 13823 79.8 79.8 82.3
WITH DISABILITY 3503 20.2 20.2 17.7
Total 17326 100.0 100.0

ES 2:SS 1+ Hearing-indicator, Mobility-indicator, Cognition-indicator + Upper Body-indicator
+ AD (4)

The syntax below calculates an Extended Set Disability Indicator (ES_2) based on 20 questions at the
recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT OF
DIFFICULTY or CANNOT DO AT ALL for the six short set question; severity levels 3 or 4 for the
Hearing-, Mobility-, Cognition- and Upper body-Indicators; and severity level 4 for Anxiety- and
Depression-Indicators.

If (missing(SS_1) AND (H_INDICATOR LT 1 ORH_INDICATOR GT 4) AND
(MOB_INDICATOR LT 1 OR MOB_INDICATOR GT 4) AND missing(COM_SS) AND
missing(SC_SS) AND (COG_INDICATOR LT 1 OR COG_INDICATOR GT 4) AND
(UB_INDICATOR LT 1 OR UB_INDICATOR GT 4) AND (ANX_INDICATOR LT 1 OR
ANX_INDICATOR GT 4) AND (DEP_INDICATOR LT 1 OR DEP_INDICATOR GT 4))
then ES 2 =;

Else If (SS_1=10OR (H_INDICATOR =3 OR H_INDICATOR = 4) OR (MOB_INDICATOR
=3 OR MOB_INDICATOR = 4) OR (COG_INDICATOR =3 OR COG_INDICATOR =4) OR
(UB_INDICATOR =3 OR UB_INDICATOR =4) OR ANX_INDICATOR =4 OR
DEP_INDICATOR =4) then ES 2 =1;

Else ES 2=2;

Proc Freq Data=SS. ExtendedSets2013;
Tables ES 2;
Run;

ES 2: WG-ES Disability Indicator based on 9 domains and 20 questions
Valid Weighted

Frequency Percent Percent Estimate
Valid WITHOUT DISABILITY 14222 82.1 82.1 84.6
WITH DISABILITY 3104 17.9 17.9 15.4
Total 17326 100.0 100.0

ES_3:8S_1 + Upper Body-indicator + AD (4)

The syntax below calculates the WG Short Set ENHANCED Disability Indicator (ES 3) based on the
12 questions at the recommended cut-off. The level of inclusion is: at least 1 domain/question is coded
A LOT OF DIFFICULTY or CANNOT DO AT ALL for the six short set question; severity levels 3 or 4
for the Upper body-Indicators; and severity level 4 for Anxiety- and Depression-Indicators.
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IT (missing(vision) AND missing(hearing) AND missing(mobility) AND
missing(communication) AND missing(Self_Care) AND missing(Cognition) AND
missing(UB_INDICATOR) AND missing(ANX_INDICATOR) AND
missing(DEP_INDICATOR) ) then ES_3 =

Else If ((vision = 3 OR vision = 4) OR (hearing= 3 OR hearing = 4) OR (mobility= 3 OR
mobility = 4) OR (communication= 3 OR communication = 4) OR (Self_Care = 3 OR Self_Care
= 4) OR (Cognition = 3 OR Cognition = 4) OR (UB_INDICATOR=3 OR UB_INDICATOR=4)
OR ANX_INDICATOR =4 OR DEP_INDICATOR = 4)

then ES 3=1;

Else ES 3=2;

Proc Freq Data=SS. ExtendedSets2013;
Tables ES_3;
Run;

ES 3: WG-SS Enhanced Disability Indicator based on 9 domains and 12 questions
Valid Weighted

Frequency Percent Percent Estimate
Valid WITHOUT DISABILITY 14393 83.1 85.8 87.7
WITH DISABILITY 2384 13.8 14.2 12.3
Total 16777 96.9 100.0
Missing 549 3.2
Total 17326 100.1

IHNOCTKPHUIITYM: [louemy uckiaw4eHbl JoMmeHbl boab u Yceranocrs?

CrnemyeT OTMETHTh UCKITIOUEHUE TOMEHOB bomu 1 YCcTaocT U3 HECKOIBKUX UICHTH(PUKATOPOB
WHBAJMHOCTH, YKa3aHHbBIX Bblle. B BI' cocrosiack cepbe3Hast [ucKyccus 1o 3TuM joMeHam. CTporo
TOBOPSI, OHU HE SBIISAIOTCA JJOMEHAMU (PYHKIIMOHUPOBAHMSI, U HAIIl aHAIM3 TIO0Ka3aJl, YTO OHU 00a CHIIBHO
KOpPEIUPYIOT ¢ APYTUMH JOMEHAMHU, U UTO MTOKA3aTEIN UHBAJIMIHOCTH IIPU BKIFOUEHUU ITUX JOMEHOB
B ONPOCHHUK MOTYT CTaTh OY€Hb BHICOKHMHU.

Hakonen, ¢ Touku 3peHuss MEXAYHAPOJHOU CONTOCTABUMOCTH, 3TH JIOMEHbI MEHEE YHUBEPCAIbHBI; TO
€CTh OHU 00Jiee BOCIIPUUMYHMBBI K MECTHOMY COLIMOKYJIBTYPHOMY BIIUSIHUIO, YeM IpyTHe chepbl
JEATEIIbHOCTH.

I1o >T¥M npHUYMHAM MBI PELIUIN UCKIIOYUTD UX U3 HECKOIBKUX TaKUX aHAJIM30B, XOTS UX MOKHO
BKJIIOYATh B JOMOJIHUTENbHBIE ONpockl, poBoaumble HCY B KOHKpeTHOM cTpaHe.
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APPENDIX 1: SAS Code used in the NHIS data file

Data ES.ExtendedSetsl3;
Set NHIS.Funcdisbl3;

*Step 1. Generate frequency distribution for each domain question: Vision
VIS SS is the WG-SS Vision question;
*Convert 7,8,9 to missing;

If VIS SS2 in (1,2,3,4) then Vision=VIS SS2;
Else Vision=.;

*Step 2. Generate frequency distribution for each domain question:
Communication

COM SS is the WG-SS Communication question;

*Convert 7,8,9 to missing;

If COM SS in (1,2,3,4) then communication=COM SS;
Else communication=.;

*Step 3. Generate frequency distribution for each domain question (including
domains with multiple questions): Hearing

HEAR SS is the WG-SS Hearing question.

HEAR:B is Difficulty hearing conversation with one person in quiet room.
HEAR 4 is Difficulty hearing one person in noisier room;

*Convert 7,8,9 to;

If HEAR SS2 in (1,2,3,4) then hearing=HEAR SS2;
Else If HEAR SS2 in (7,8,9 ) then hearing=.;

If HEAR 3 in (1,2,3,4) then HEAR 3 R=HEAR 3;
Else If HEAR 3 in (7,8,9 ) then HEAR 3 R=.;

If HEAR 4 in (1,2,3,4) then HEAR 4 R=HEAR 4;
Else If HEAR 4 in (7,8,9 ) then HEAR 4 R=.;

*Step 4. For Hearing questions, recode Hear 3 R and Hear 4 R to 4 (cannot do
at all) if HEAR SS2 is 4 (Cannot do at all).

IF HEAR SS = 4 HEAR 3 R = 4.

IF HEAR SS = 4 HEAR 4 R = 4.;

If hearing = 4 and HEAR 3 R =. then HEAR 3 X = 4;
Else HEAR 3 X=HEAR 3 R;
If hearing = 4 and HEAR 4 R =. then HEAR 4 X = 4;

Else HEAR 4 X=HEAR 4 R;

*Step 5. Generate a cross-tabulation of the two Hearing Extended Set
questions: HEAR 3 X and HEAR 4 X.;

*Step 6. Create a HEARING INDICATOR (H INDICATOR) based on the two additional
hearing questions HEAR 3 X and HEAR 4 X

The syntax below creates a HEARING INDICATOR (H INDICATOR) based on the two
additional hearing questions HEAR 3 X and HEAR 4 X;

IF (HEAR 3 X = 1 AND HEAR 4 X = 1) OR (HEAR 3 X = 1 AND HEAR 4 X = 2) then
H INDICATOR = 1;
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Else IF (HEAR 3
AND HEAR 4 X
Else IF (HEAR - 2) OR (HEAR 3 X = 2
AND HEAR 4 X ) OR (HEAR 3 X = 1 AND HEAR 4 X = 4)) then H INDICATOR
Else IF ((HEAR 3 X = 3 AND HEAR 4 X = 3) OR HEAR 3 X = 4 OR (HEAR 4 X = 4
AND (HEAR 3 X = 2 OR HEAR 3 X = 3))) then H INDICATOR = 4;

= 2 AND (HEAR 4 X = 1 OR HEAR 4 X
) then H INDICATOR = 2;

X 2)) OR (HEAR 3 X =1
3

X = 3 AND (HEAR 4 X = 1 OR HEAR 4 X
3

w
Il
Il
Il
w

*Step 7. Generate frequency distribution for each domain question: Cognition
COG_SS is the WG-SS Cognition question.

Cognition: Degree of difficulty remembering or concentrating;

*Recode 7,8,9 to .;

If COG_SS in (1,2,3,4) then Cognition=COG_SS;
Else If COG_SS in (7,8,9) then Cognition=.;

*If response to COG-SS 2, 3 or 4 then the respondent is asked COG 1: whether
they have difficulty remembering, concentrating or both. ;

If COG 1 in (1,2,3) then COG_1 R=COG_1;
Else If COG 1 in (7,8,9) then COG 1 R=.;

*Step 8. Account for those who did not answer COG 1 (COG _SS is 1 - no
difficulty and they were skipped) by recoding COG 1 to 0 (No difficulty).

If response to COG-SS is 1: no difficulty, then the variable COG 1 is recoded
into COG 1A, and the value assigned is 0: no difficulty;

If COG_SS=1 then COG_1A=0;
Else COG_1A=COG 1 R;

*Step 9. Generate frequency distribution for remaining cognition questions.
Frequency distribution of the Cognition extended REMEMBERING questions: COG 2
and COG 3.;

If COG 2 in (1,2,3) then COG_2 R=COG 2;
Else If COG_2 in (7,8,9) then COG 2 R=.;

If COG 3 in (1,2,3) then COG 3 R=COG 3;
Else If COG 3 in (7,8,9) then COG 3 R=.;

*Step 10. Generate cross-tabulation of the two Cognition extended set
questions COG_2 by COG 3.;

*Step 11. Create a Remembering Indicator based on distribution of COG 2 and
COG_3. The syntax below creates a REMEMBERING INDICATOR (R _INDICATOR) based
on the additional remembering questions (COG 2 R and COG 3 R).

If COG SS is 1: no difficulty, then the Remembering Indicator is coded as 1:
the lowest level of difficulty;

IF (Cognition = 1) then R _INDICATOR = 1;

Else IF ((COG 2 R =1 AND COG 3 R = 1) OR (COG 3 R = 1 AND COG 2 R = 2) OR
(COG 3 R = 2 AND COG 2 R = 1)) then R INDICATOR = 2;

Else IF (COG 3 R = 2 AND COG 2 R = 2) then R INDICATOR = 3;

Else IF (COG_3 R = 3 OR COG 2 R = 3) then R_INDICATOR = 4;

*Step 12. If COG 1A is coded as 2 (concentrating only), then the Remembering
Indicator is coded as 5.

These 388 individuals are respondents who were not included in the
Remembering Indicator since they had only difficulty concentrating. ;
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Else IF (COG_1A = 2) then R INDICATOR = 5;
Else R_INDICATOR = 0;

*Step 13. Generate frequency distribution of the Remembering Indicator.;

*Step 14. Supplement Remembering Indicator with information on difficulty
concentrating.

The syntax below adds information on whether cognitive difficulties are
compounded by difficulty concentrating in addition to difficulty remembering.
Create a COGNITION INDICATOR (COG _INDICATOR) based on R _INDICATOR (above) and
the cognition question (COG _1). The 388 individuals with ‘concentrating only’
were allocated as follows:

1. 357 with a little difficulty on COG_SS question were classified as 2

2. 30 with a lot of difficulty on COG _SS question were classified as 3

3. 1 with cannot do on COG SS question was classified as 4

Those with both rememberin§ and concentrating difficulty were upgraded 36
individuals from 2 to 3, and 125 individuals from 3 to 4.;

COG_INDICATOR=R INDICATOR;
IF (R_INDICATOR = 5 AND Cognition = 2) then COG_INDICATOR = 2;

Else IF (R _INDICATOR = 5 AND Cognition = 3) then COG INDICATOR = 3;

Else IF (R _INDICATOR = 5 AND Cognition = 4) then COG_INDICATOR = 4;

IF (R_INDICATOR = 2 AND COG 1 R = 3 AND Cognition = 3) then COG_INDICATOR =
3;

Else IF (R_INDICATOR = 3 AND COG_1 R = 3 AND Cognition = 3) then
COG_INDICATOR = 4; o

*Step 15. Generate frequency distribution of the Cognition Indicator.;

*Step 16. Generate frequency distribution for each domain question: Self-care
and Upper body functioning.;

*UB_SS is the WG-SS Self-care question.

Recode 7,8,9 to .;

If UB SS in (1,2,3,4) then Self care =UB_SS;
Else Self care =.;

If UB 1 in (1,2,3,4) then UB 1 R=UB 1;
Else If UB 1 in (7,8,9) then UB 1 R=.;

If UB 2 in (1,2,3,4) then UB 2 R=UB 2;
Else If UB 2 in (7,8,9) then UB 2 R=.;

*Step 17. Generate a cross-tabulation of the two Upper body Extended Set
questions: UB 2 R and UB 1 R.;

*Step 18. Create an UPPER BODY INDICATOR (UB INDICATOR) based on the two
additional self care gquestions UB 2 R and UB 3 R.

Syntax below creates UB INDICATOR based on the distribution in the cross-
tabulation above.;

IF (UB 1 R =4 O0R UB 2 R = 4) then UB INDICATOR = 4;

Else IF UB INDICATOR NE 4 AND (UB 1 R = 3 OR UB 2 R = 3) then UB INDICATOR =
3;

Else IF UB_INDICATOR NE 4 AND UB INDICATOR NE 3 AND (UB 1 R =2 OR UB 2 R =
2) then UB INDICATOR = 2;

Else IF UB_INDICATOR NE 4 AND UB_INDICATOR NE 3 AND UB_INDICATOR NE 2 AND
(UB1 R=1O0RUB2R=1) then UB_INDICATOR = 1.;
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*Step 19. Generate frequency distribution for each domain question: Mobility.
MOB SS is the WG-SS Mobility question

First, calculate frequency distributions on the short set and two extended
set WALKING questions (MOB 4,MOB 5);

If MOB SS2 in (1,2,3,4) then Mobility=MOB SS2;
Else Mobility=.;

If MOB 4 in (1,2,3,4) then MOB 4 R=MOB 4;
Else If MOB 4 in (7,8,9) then MOB 4 R=.;

If MOB 5 in (1,2,3,4) then MOB 5 R=MOB 5;
Else If MOB 5 in (7,8,9) then MOB 5 R=.;

*Step 20. Generate a cross-tabulation of the walking distance questions:
MOB 4 R (Difficulty walking 100 yards without equipment) and MOB 5 R
(Difficulty walking 1/3 mile without equipment ) to determine a single
WALKING INDICATOR.

NOTE: 623 individuals who responded cannot do at all to MOB 4 were not asked
MOB 5 and they do not appear in the table below.

They are, however, accounted for in the WALKING indicator calculation;

*Step 21. Create a WALKING INDICATOR (WALK INDICATOR) based on the two
additional walking questions MOB 4 R and MOB 5 R.

Syntax below creates WALKING INDICATOR based on the distribution in the
cross-tabulation above.;

WALK_INDICATOR=0;

IF (MOB 4 R = 1 AND (MOB_ 5 R=1 OR MOB 5 R = 2
Else IF (MOB 4 R = 1 AND MOB 5 R = 3) OR (MOB 4 .
MOB 5 R = 2 OR MOB 5 R = 3)) then WALK INDICATOR

)) then WALK INDICATOR = 1;

R

Else IF (MOB 4 R = 1 AND MOB 5 R = 4) OR (MOB 4 R
R

= 2 AND (MOB 5 R = 1 OR

3 AND (MOB 5 R = 1 OR
MOB 5 R = 2 OR MOB 5 R = 3)) then WALK INDICATOR
Else IF (MOB 4 R

=2 AND MOB 5 R = 4) OR (MOB 4
WALK INDICATOR = 4;

3 AND MOB 5 R = 4) then
*Syntax below includes the 623 who responded cannot do at all to MOB 4 into
the WALKING INDICATOR;

Else IF (WALK INDICATOR = O AND MOB 4 R = 4) then WALK INDICATCR = 4;
*RECODE WALK INDICATOR (0 = SYSMIS).;

IF WALK_INDICATOR=O then WALK INDICATOR=.;

*Step 22. Supplement Walking Indicator with information on difficulty
Climbing steps (MOB_6) . CROSSTABS WALK INDICATOR BY MOB 6.;

If MOB 6 in (1,2,3,4) then MOB 6 R=MOB 6;
Else If MOB 6 in (7,8,9) then MOB 6 R=.;

*Step 23. Create a mobility indication (MOB_INDICATOR) with information
garnered from cross-tabulation above.;

MOB INDICATOR = WALK INDICATOR;
IF (WALK INDICATOR = 2 AND MOB 6 R = 3) then MOB INDICATOR = 3;

Else IF (WALK INDICATOR = 1 AND MOB 6 R = 3) then MOB INDICATOR = 2;
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Else IF (WALK INDICATOR
Else IF (WALK INDICATOR

2 AND MOB 6 R = 4) then MOB_ INDICATOR =
1 AND MOB 6 R = 4) then MOB INDICATOR =

|
=

|
w

*Step 24. Generate frequency distribution on ANX 1 (Anxiety);

If ANX 1 in (1,2,3,4,5) then ANX 1 R=ANX 1;
Else If ANX 1 in (7,8,9) then ANX 1 R=.;

*Step 25. The syntax below recodes ANX 3R into ANX 3Y to place “SOMEWHERE
BETWEEN” numerically in-between “A LITTLE” and “A LOT”;

If ANX 3R =1 then ANX 3Y=1;

Else If ANX 3R =2 then ANX 3Y=3;

Else If ANX 3R =3 then ANX 3Y=2;

Else If ANX 3R in (7,8,9) then ANX 3Y=.;

*Recode ANX 3Y to 0 (not asked) 1f ANX 1 is 5 (Never).;
If ANX 1 =5 then ANX 3Y=0;

*Step 26. Generate a cross-tabulation of the anxiety Extended Set questions:
ANX 1 R and ANX 3Y.;

*Step 27. Create an ANXIETY INDICATOR (ANX INDICATOR) based on the two
anxiety questions ANX 1 R and ANX 3Y.

Syntax below creates ANX INDICATOR based on the distribution in the cross-
tabulation above.;

IF (missing(ANX 1 R) OR missing (ANX 3Y)) then ANX INDICATOR=.;

Else IF ( ANX 3Y le 4 AND (ANX 1 R = 4 OR ANX 1 R = 5)) then ANX INDICATOR=1;
Else IF ((ANX 1 R = 3) OR (ANX 1 R LT 3 AND ANX 3Y=1) OR (ANX 1 R = 2 AND
ANX_3Y = 2)) then ANX INDICATOR = 2;

Else IF ((ANX 1 R = 1 AND ANX 3Y = 2) OR (ANX 1 R = 2 AND ANX 3Y = 3)) then
ANX_INDICATOR = 3;

Else IF ( ANX 1_R = 1 AND ANX_3Y = 3) then ANX_INDICATOR = 4;

*Step 28. Generate frequency distribution on DEP 1 (Depression);

If DEP. 1 in (1,2,3,4,5) then DEP 1 R=DEP 1;
Else If DEP_1 in (7,8,9) then DEP 1 R=.;
Else DEP 1 R=.;

*Step 29. The syntax below recodes DEP 3R into DEP_3Y to place “SOMEWHERE
BETWEEN” numerically in-between “A LITTLE” and “A LOT”;

If DEP 3R =1 then DEP 3Y=1;

Else If DEP 3R =2 then DEP 3Y=3;

Else If DEP_ 3R =3 then DEP_3Y=2;

Else If DEP_3R in (7,8,9) then DEP_3Y=.;

*Recode DEP 3Y to 0 (not asked) if DEP 1 is 5 (Never).;
If DEP 1 =5 then DEP_3Y=0;

*Step 30. Generate a cross-tabulation of the depression Extended Set
questions: DEP 1 R and DEP 3Y.;
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*Step 31. Create a DEPRESSION INDICATOR (DEP INDICATOR) based on the two
depression questions DEP_1 R and DEP 3Y;

IF (missing(DEP 1 R) OR missing(DEP_3Y)) then DEP_INDICATOR = .;

Else IF (DEP 3Y Le 4 AND (DEP 1 R = 4 OR DEP 1 R = 5)) then DEP_INDICATOR=1;
Else IF ((DEP_l_R = 3) OR (DEP_l R LT 3 AND DEP_3Y=1) OR (DEP_l = 2 AND
DEP_3Y = 2)) then DEP INDICATOR 2;

Else IF ((DEP_1 R = 1 AND DEP 3Y = 2) OR (DEP_1 R = 2 AND DEP 3Y = 3)) then
DEP INDICATOR = 3
Else IF (DEP_1 R

|| ~e

1 AND DEP_3Y = 3) then DEP INDICATOR = 4;
*Step 32. Generate frequency distribution on PAIN 2 (Pain);

If PAIN 2 in (1,2,3,4) then PAIN 2 R=PAIN 2;
Else If PAIN 2 in (7,8,9) then PAIN 2 R=.;

*Step 33. The syntax below recodes PAIN 4 into PAIN 4Y to place “SOMEWHERE
BETWEEN” numerically in-between “A LITTLE” and “A LOT”
It also creates the category NOT ASKED, if PAIN 2 is NEVER (1);

If PAIN 4 =1 then PAIN 4v=1;

Else If PAIN 4 =2 then PAIN 4Y=3;

Else If PAIN 4 =3 then PAIN 4Y=2;

Else If PAIN 4 in (7,8,9) then PAIN 4Y=.;

If PAIN 2=1 then PAIN 4Y=0;

*Step 34. Generate a cross-tabulation of the PAIN Extended Set questions:
PAIN 2 R and PAIN 4Y.;

*Step 35. Create a PAIN INDICATOR (P INDICATOR) based on the two PAIN
gquestions PAIN 2 R and PAIN 4Y.

Syntax below creates P INDICATOR based on the distribution in the cross-
tabulation above.;

IF (PAIN 2 R = 1) OR (PAIN 4Y = 1 AND (PAIN 2 R = 2 OR PAIN 2 R = 3)) then
P _INDICATOR = 1;

Else IF ((PAIN 2 R = 2 AND (PAIN 4Y = 2 OR PAIN 4Y = 3)) OR (PAIN 2
AND PAIN 4Y = 2) OR (PAIN 2 R = 4 AND PAIN 4Y = 1)) then P_INDICATOR
Else IF (PAIN 2 R = 3 AND PAIN 4Y = 3) OR (PAIN 2 R = 4 AND PAIN 4Y =
then P_INDICATOR = 3;

Else IF (PAIN 2 R = 4 AND PAIN 4Y = 3) then P_INDICATOR = 4;

3

=
NN

*Step 36. Generate frequency distribution on FATIGUE Extended Set questions
Tired 1 (How often you felt tired in the past 3 months.),
Tired 2 and Tired 3;

If TIRED 1 in (1,2,3,4) then TIRED 1 R=TIRED 1;
Else If TIRED 1 in (7,8,9) then TIRED 1 R=.;

If TIRED 2 in (1,2,3) then TIRED 2 R=TIRED 2;
Else If TIRED_2 in (7,8,9) then TIRED_Z_R=.;
Else TIRED 2 R=.;
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*Step 37. Recode Tired 2 to O (not asked) if Tired 1 is 1 (Never).;
If TIRED 1 =1 then TIRED 2 R=0;

*Step 38.recodes TIRED_3 into TIRED_3Y to place “SOMEWHERE BETWEEN”
numerically in-between “A LITTLE” and “A LOT”.
Also, if response to TIRED 1 is 1: Never, then TIRED 3 is not asked;

If TIRED_3 =1 then TIRED_3Y=1;

Else If TIRED_3 =2 then TIRED_3Y=3;

Else If TIRED 3 =3 then TIRED 3Y=2;

Else If TIRED 3 in (7,8,9) then TIRED 3Y=.;
If TIRED 1=1 then TIRED 3Y=0;

*Step 39. Generate a cross-tabulation of the FATIGUE Extended Set questions:
TIRED 1 R, TIRED 2 R and TIRED 3Y.;

*Step 40. Create a FATIGUE INDICATOR (T INDICATOR) based on the three FATIGUE
guestions TIRED 1 R, TIRED 2 R and TIRED 3Y.;

IF (TIRED 1 R = 1) then T INDICATOR = 1;

Else IF (TIRED 1 R = 2 AND TIRED 2 R = 1 AND TIRED 3Y
1;

Else IF (TIRED 1 R = 3 AND TIRED 2 R = 1 AND TIRED 3Y = 1) then T INDICATOR
1;

1) then T INDICATOR

Else IF (TIRED 1 R in (2,3,4) AND TIRED 2 R in (2,3) AND TIRED 3Y =1) then
T INDICATOR = 2;

Else IF (TIRED 1 R in (2,3,4) AND TIRED 2 R =1 AND TIRED 3Y =2) then

T INDICATOR = 2;

Else IF (TIRED 1 R =2 AND TIRED 2 R =2 AND TIRED 3Y =2) then T INDICATOR =

Else IF (TIRED 1 R =4 AND TIRED 2 R =1 AND TIRED 3Y =1) then T INDICATOR = 2;

|
N

Else IF (TIRED 1 R in (3,4) AND TIRED 2 R =2 AND TIRED 3Y =2) then

T INDICATOR = 3;

Else IF (TIRED 1 R in (2,3,4) AND TIRED 2 R =3 AND TIRED 3Y =2) then
T INDICATOR = 3;

Else IF (TIRED 1 R in (2,3,4) AND TIRED 2 R =1 AND TIRED 3Y =3) then
T INDICATOR = 3;

Else IF (TIRED 1 R in (2,3) AND TIRED 2 R =2 AND TIRED 3Y =3) then

T INDICATOR = 3;
Else IF (TIRED 1 R

2 AND TIRED 2 R =3 AND TIRED 3Y =3) then T INDICATOR

Il
w

Else IF (TIRED 1 R =4 AND TIRED 2 R =2 AND TIRED 3Y =3) then T INDICATOR
Else IF (TIRED 1 R in (3,4) AND TIRED 2 R =3 AND TIRED 3Y =3) then

T INDICATOR = 4;

Else T INDICATOR = .;

Il
=

*SS_1: WG Short Set Disability Indicator based on the 6 short set questions.;

IF (missing(vision) AND missing(hearing) AND missing(mobility) AND

missing (communication) AND missing(Self care) AND missing(Cognition)) then
SS 1 = .;
Else IF ((vision = 3 OR vision = OR

4)
hearing= 3 OR hearing = 4) OR
mobility= 3 OR mobility = 4) OR
communication= 3 OR communication = 4) OR

—~ o~~~
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(Self care 3 OR Self care = 4) OR
(Cognition = 3 OR Cognition = 4)) then SS 1 = 1;
Else SS 1 = 2;

*ES_1: SS 1 + Hearing-indicator, Mobility-indicator, Cognition-indicator +
Upper Body-indicator + PFAD (4).

PFAD=only level 4 in Pain indictor, Fatigue indicator, Anxiety indictor, and
Depression indicator;

IF ( missing(SS_l) AND (H_INDICATOR LT 1 OR H INDICATOR GT 4) AND
(MOB_INDICATOR LT 1 OR MOB_INDICATOR GT 4) AND missing(COM_SS) AND
missing(UB_SS) AND (COG_INDICATOR LT 1 OR COG_INDICATOR GT 4) AND
(UB_INDICATOR LT 1 OR UB_INDICATOR GT 4) AND missing(P_INDICATOR) AND
(T_INDICATOR LT 1 OR T INDICATOR GT 4) AND (ANX_INDICATOR LT 1 OR

ANX INDICATOR GT 4) AND (DEP_INDICATOR LT 1 OR DEP INDICATOR GT 4)) then
ES 1 = .;

Else IF (SS_1 = 1 OR (H_INDICATOR = 3 OR H INDICATOR = 4) OR (MOB_INDICATOR =
3 OR MOB INDICATOR = 4) OR (COG INDICATOR = 3 OR COG INDICATOR = 4) OR
(UB_INDICATOR = 3 OR UB_INDICATOR = 4) OR P_INDICATOR = 4 OR T INDICATOR = 4
OR ANX INDICATOR = 4 OR DEP_INDICATOR = 4) then ES 1 = 1;

Else ES 1 = 2;

*ES_2: SS 1 + Hearing-indicator, Mobility-indicator, Cognition-indicator +
Upper Body-indicator + AD (4)
AD=only level 4 in Anxiety indictor and Depression indicator;

IF (missing(SS_1) AND (H INDICATOR LT 1 OR H INDICATOR GT 4) AND
(MOB_INDICATOR LT 1 OR MOB INDICATOR GT 4) AND missing(COM SS) AND
missing (UB_SS) AND (COG_INDICATOR LT 1 OR COG_INDICATOR GT 4) AND
(UB_INDICATOR LT 1 OR UB INDICATOR GT 4) AND (ANX INDICATOR LT 1 OR

ANX TINDICATOR GT 4) AND (DEP_INDICATOR LT 1 OR DEP_INDICATOR GT 4)) then
ES 2 = .;

Else IF (SS 1 = 1 OR (H INDICATOR = 3 OR H INDICATOR = 4) OR (MOB INDICATOR =
3 OR MOB INDICATOR = 4) OR (COG INDICATOR = 3 OR COG INDICATOR = 4) OR
(UB_INDICATOR = 3 OR UB INDICATOR = 4) OR ANX INDICATOR = 4 OR

DEP INDICATOR = 4) then ES 2 = 1;

Else ES 2 = 2;

*ES 3: SS 1 + Upper Body-indicator + AD (4)
AD=only level 4 in Anxiety indictor and Depression indicator;

IF (missing(vision) AND missing(hearing) AND missing(mobility) AND
missing (communication) AND missing(Self care) AND missing(Cognition) AND
missing (ANX INDICATOR) AND missing (DEP INDICATOR)) then ES 3 = .;

Else IF ((vision = 3 OR vision = 4) OR (hearing= 3 OR hearing = 4) OR
mobility= 3 OR mobility = 4) OR (communication= 3 OR communication = 4) OR
(Self care = 3 OR Self care = 4) OR (Cognition = 3 OR Cognition = 4) OR
ANX_INDICATOR = 4 OR DEP_INDICATOR = 4) then ES_3 =1;

Else ES 3 = 2;

Label
Vision="Degree of difficulty seeing"
communication="Degree of difficulty communicating using usual language"
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hearing="Degree of difficulty hearing"

HEAR 3 R="Difficulty hearing conversation with one person in quiet

room"

HEAR 3 X="Difficulty hearing conversation with one person in quiet

room:Recoded from HEAR 3 R"

HEAR 4 R="Diff hearing one person in noisier room even w/ hearing aid"

HEAR 4 X="Diff hearing one person in noisier room even w/ hearing

aid:Recoded from HEAR 4 R"

H INDICATOR="Hearing indictor"

CEgnition="Degree of difficulty remembering or concentrating”

COG_1 R="Difficulty remembering, concentrating, or both?"

COG_1A="Include respondents who did not asked COG_ 1"

COG_2 R="How often have difficulty remembering?"

COG_3 R="Amount of things you have difficulty remembering?"

R _INDICATOR="Remembering indicator"

COG_INDICATOR="COG INDICATOR"

Self care="Degree of difficulty with self-care"

UB 1 R="Diff raising 2 liter bottle of water from waist to eye level"

UB 2 R="Degree of difficulty using hands and fingers"

UB_INDICATOR="UB INDICATOR"

MOB 4 R="Diff walking 100 yards on level ground w/o aid or equipment"

MOB 5 R="Diff walking 1/3rd mile on level ground w/o aid or equipment"

WALK INDICATOR="WALK INDICATOR"

MOB INDICATOR="MOB INDICATOR"

PAIﬁ_2_R="Frequency of pain in past 3 months"

PAIN 4Y="How much pain you had last time you had pain?"

P INDICATOR="Pain INDICATOR"

TIRED 1 R="How often felt very tired or exhausted in past 3 months"

TIRED 2 R="How long most recent tired or exhausted feelings lasted?"

TIRED 3Y="Level of tiredness last time felt very tired or exhausted"

T INDICATOR="Tired INDICATOR"

SS 1="WG Short Set Disability Identifier"

ESilz"WG—ES Disability Indicator based on 11 domains and 25 questions"

ES 2="WG-ES Disability Indicator based on 9 domains and 20 questions"

ES 3="WG-SS Enhanced Disability Indicator based on 9 domains and 12
questions"

’

Format Vision communication hearing HEAR 3 R HEAR 4 R HEAR 3 X HEAR 4 X

Cognition Self care UB_ 1 R UB 2 R Mobility MOB 4 R MOB 5 R Diff.
COG_ 1 R COGF. COG 1A COGIAF. COG 2 R Cog2f. COG 3 R Cog3f. PAIN 2 R TIRED 1 R
pain2Tirelf. TIRED 2 R Tire2f. PAIN 4Y TIRED 3Y paind4Tire3f.

ANX 1 R DEP 1 R AnxDep. ANX 3Y DEP 3Y AnxDep3F. SS 1 ES 1 ES 2 ES 3 DisabF.;
Run;

Proc format library=ES.ES;
Value Diff
1="No Difficulty"
2="Some Difficulty"
3="A lot of Difficulty"
4="Cannot do at all"
.="Missing"

Value COGF
="Difficulty remembering only"
2="Difficulty concentrating only"
3="Difficulty with both remembering and concentrating"
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Value COGIlAF
0="(0)No difficulty"
1="Difficulty remembering only"
2="Difficulty concentrating only"
3="Difficulty with both remembering and concentrating"

Value Cog2f
1="Sometimes"
2="0ften"
3="All of the time"

Value Cog3f
1="A few things"
2="A lot of things"
3="Almost everything"

Value AnxDep

1="Daily"

2="Weekly"
3="Monthly"

4="Afew times a year"
5="Never"

Value AnxDep3F
0="Not asked"
1="A little"
2="In bewteen"
3="A lot"

Value pain2Tirelf
1="Never"
2="Some days"
3="Most days"
4="Every day"

Value Tire2f
0="NOT ASKED"
1="Some days"
2="Most days"
3="Every day"

Value paindTire3f
="NOT ASKED"
1="A little"
2="in between"
3="A lot"

Value DisabF
1="With Disability"
2="Without Disability"

Run;
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	Введение
	Как и в случае с Кратким опросником ВГ по функциональным способностям (ВГ-КО), анализ ответов расширенного набора вопросов ВГ по функциональным способностям (ВГ-РО) также позволяет получить несколько идентификаторов инвалидности путем выбора порога тя...
	ПРИМЕЧАНИЕ: для анализа данных используйте Ваши стандартные методы взвешивания и оценки.
	ВГ-КО является частью Национального анкетирования по вопросам здоровья (NHIS) США. Данные, использованные для подготовки этих рекомендаций, взяты из NHIS за 2013 год.
	Все 25 вопросов включены в ВГ-РО 1.
	Варианты ответов:
	ВГ-КО является частью ВГ-РО. В ВГ-РО добавлены:


	SAS WG Extended Set Syntax Annotated with Output Tables
	Actual SAS syntax is indented and are in Bold text.
	Communication: Degree of difficulty communicating using usual language
	Hearing: Degree of difficulty hearing
	HEAR_3_X : Difficulty hearing conversation with one person in quiet room
	HEAR_3_X : Difficulty hearing conversation with one person in quiet room
	H_INDICATOR
	Cognition: Degree of difficulty remembering or concentrating
	COG_1_R: Difficulty remembering, concentrating, or both?
	COG_1A: Difficulty remembering, concentrating, or both? (including no difficulty)
	COG_2_R: How often have difficulty remembering?
	COG_3_R: Amount of things you have difficulty remembering?
	R_INDICATOR
	COG_INDICATOR = 4;

	COG_INDICATOR
	SELF_CARE: Degree of difficulty with self-care
	UB_1_R: Diff raising 2 liter bottle of water from waist to eye level
	Else If UB_INDICATOR NE 4 AND UB_INDICATOR NE 3 AND UB_INDICATOR NE 2

	UB_INDICATOR
	Mobility: Degree of difficulty walking or climbing steps
	Tables MOB_4_R*MOB_5_R /NOROW NOCOL NOPERCENT;

	MOB_4_R: Diff walking 100 yards on level ground w/o aid or
	WALK_INDICATOR
	MOB_6_R: Difficulty climbing up or down 12 steps
	According to the table above, the syntax below reclassifies:

	MOB_IDICATOR
	ANX_1_R: How often feel worried, nervous, or anxious?
	ANX_3Y: Level of feelings last time felt worried/nervous/anxious
	ANX_1_R: How often feel worried, nervous or anxious?
	ANX_INDICATOR
	DEP_1_R: How often do you feel depressed?
	DEP_1_R: How often do you feel depressed?
	DEP_INDICATOR
	PAIN_2_R: Frequency of pain in past 3 months
	PAIN_4Y: How much pain you had last time you had pain?
	PAIN_2_R: Frequency of pain in past 3 months
	P_INDICATOR
	TIRED_1_R:How often felt very tired or exhausted in past 3 months
	TIRED_2_R: How long most recent tired or exhausted feelings lasted?
	TIRED_3Y: Level of tiredness
	T_Indicator
	* PFAD (4): Pain, Fatigue, Anxiety and Depression Indicators at level 4

	SS_1: WG Short Set Disability Identifier
	The syntax below calculates an Extended Set Disability Indicator (ES_1) based on 25 questions at the recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT OF DIFFICULTY or CANNOT DO AT ALL for the six short set ques...
	Else If (SS_1 = 1 OR (H_INDICATOR = 3 OR H_INDICATOR = 4) OR (MOB_INDICATOR

	ES_1: WG-ES Disability Indicator based on 11 domains and 25 questions
	The syntax below calculates an Extended Set Disability Indicator (ES_2) based on 20 questions at the recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT OF DIFFICULTY or CANNOT DO AT ALL for the six short set ques...
	Else If (SS_1 = 1 OR (H_INDICATOR = 3 OR H_INDICATOR = 4) OR (MOB_INDICATOR

	ES_2: WG-ES Disability Indicator based on 9 domains and 20 questions
	The syntax below calculates the WG Short Set ENHANCED Disability Indicator (ES_3) based on the 12 questions at the recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT OF DIFFICULTY or CANNOT DO AT ALL for the six ...

	ES_3: WG-SS Enhanced Disability Indicator based on 9 domains and 12 questions
	Следует отметить исключение доменов Боли и Усталости из нескольких идентификаторов инвалидности, указанных выше. В ВГ состоялась серьезная дискуссия по этим доменам. Строго говоря, они не являются доменами функционирования, и наш анализ показал, что о...



